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FOREWORD

This report presents the Candidates’ ltem Response Analysis Report (CIRA) for
the Advanced Certificate of Secondary Education Examination (ACSEE) in the
Arabic Language subject which was conducted in May, 2022. It is a summative
evaluation intending to provide feedback to all education stakeholders on the
factors which influenced the candidates’ performance in the subject.

The focus of the analysis was on the factors which indicate the candidates’
performance in the Arabic Language subject. The candidates with high
performance had adequate knowledge of the basic concepts of Arabic Language.
These candidates had the competences in the appropriate use of the Language for
different audiences and purposes; they were able to read, write, appreciate and
analyse literary works and write a variety of Arabic Language texts critically as
presented in different sources. However, the candidates who scored average and/or
low marks faced some difficulties in answering questions such as failure to
interpret the questions’ demands, weak mastery of Arabic Language and
insufficient knowledge of the concepts tested.

It is our expectation that all educational stake holders will use the feedback
provided and recommendations suggested in this report to improve the teaching
and learning to the prospective candidates in the future examinations administered
by the Council.

The Council would like to appreciate the examinations officers, statisticians and all
those who participated in writing this report.

Athumani S. Amasi
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report presents an analysis of the performance of the candidates in the
Arabic Language who sat for the Advanced Certificate of Secondary Education
Examination (ACSEE) which was conducted in May 2022.

This Examination consisted of two (2) papers, which are Arabic Language
paper 1 and paper 2. Each paper had eight (8) questions distributed in two (2)
sections, namely section A and B. The candidates were required to choose four
(4) questions in section A and two (2) questions in section B. Each question in
section A carried fifteen (15) marks and each question in section B carried
twenty (20) marks. The aim was to test the candidates’ Arabic Language skills
in comprehension, grammar, language use, morphology, composition, rhetoric,
response to readings and literature.

The candidates’ performance in each question is presented by indicating the
task of each question, the expected responses and how the candidates
responded. Samples of responses extracted from the candidates’ scripts have
been attached in order to show how the candidates responded.

The three categories of performance have been used in the analysis of the
candidates’ performance per question. Based on this analysis, if the
performance ranges from 60 to 100 per cent, it is considered as good and is
represented by the green colour, performance ranging from 35 to 59 is average
and this is represented by the yellow colour, and from 0 to 34 per cent is weak
performance which is represented by the red colour.

The candidates who sat for the Arabic Language subject examination in May
2022 were 219 out of which 93.61 per cent passed and 6.39 per cent failed.
These results indicate that the 2022 performance has increased by 18.61 per
cent compared to the performance for the year of 2021.

It is expected that the report will be useful to all educational stakeholders and
will enable teachers and students to improve the teaching and learning process
in the Arabic Language subject.



2.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 1

2.1 Section 1: Short Answer Questions

This section had five questions. The candidates were required to attempt four
(4) questions. Each question weighed fifteen (15) marks.

2.1.1 Question 1: Reading Passage and Answering Questions

This question had two parts, (a) and (b). The question was set from the
topic of Comprehension. It tested the candidates’ ability to read and
comprehend the given passage.

In part (a), the candidates were required to read the passage and answer
the following five (5) items.

1) (fliwl &pli cdlSda 2dg7 /ilg “What threatens the problems of
environmental pollution?”

2) (Flged Lay AN Al (A g colesddl) (A Y (sl U S ol _sa¥) L) “What
has had the worst impact and the protection of the environment in
which they live?

3) (Feslilf o Linhl Llas £ g piY) Sinl) 4 slais ¥ 94/ iLa) “Why has
increased interest in the issue of environmental protection from
pollution in the last decade?”

4) (Ll sl ) g950 AN Jalsel) a ulil <435) “Write two factors that
lead to environmental pollution?”

5) (fhitaly folwd] JS dulgpus lgule dihl Llas J#) “Is protecting the
environment the responsibility of every human being? And why”

In part (b), the candidates were instructed to use each of the given
verbs (st i ¢ adil ieipd <) “ran, drink, burst, exposure,
change” in a meaningful sentence.

This question was attempted by 122 (55.7%) candidates, out of whom
60.7 per cent scored from 9 to 15 marks. Moreover, 28.6 per cent
scored from 5.5 to 8.5 marks and only 10.3 per cent scored from 2 to 5
marks. The analysis shows that the overall candidates’ performance in
this question was good since 89.3 per cent scored from average and/or
above. The performance is summarised in Figure 1.
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Figure 1: Percentages of the Candidates’ Performance on Question 1

The analysis of the candidates’ responses shows that the candidates
who performed well in this question understood the requirements of the
question and provided the correct answers to both parts (a) and (b). For
example, one of the candidates provided his/her answers to the five
items in part (a) as follows:

1) (Ll sloads Ladlew Linll & gli NS o 04% “Environmental pollution
problems threaten the safety of the human life’’.

2) (b by AN il A g Sy (A 5Y) [ps 0 LS 03N oY) 98 i pall) “War
is the thing that had the impact on people and the environment in
which they live.

3) (bite Mo pgd A s o dl) Eadll o el o pad Lill 5¥) “Because
the environment was exposed to more tampering, which led to the
emergency of many problems”.

4) (e f I gl yand P BISY Jariadl) o b Linl) Eipli Y 5455 A Jal g2l 1
caflg el i) “Among the factors that lead to environmental
pollution are; misusing of some materials in the field of agriculture
and wars”.



5) (e bl gl gl o JST g 6L Gl L (o] (4 J¥) (o st et
L¢<) “Because it is the land in which the people live and eat from its
bounties and benefit from its bliss”.

In part (b), one of the candidates were able to use the given verbs ( <z

“ o

St e el ¢ padi) e ) “ran, drink, burst, exposure, change” in a
meaningful sentence as follows:

1) (2d o g il s 4) “The dog ran for fear of the lion”.
2) (- #le Sl i 4d) “The elephant drank river water.”
3) (Jfaff _adi) “Mountain exploded.”

4) (splaad Seo it ald Y (i Wl 2329 “The president faced a large
crowd.”

5) (el o i) “The colour of hair has changed.”

This shows that the candidates had sufficient vocabulary and good
command of the Arabic Language. Extract 1.1 is a sample of a
candidate’s good response.
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Extract 1.1: A Sample of Correct Responses to Question 1

In Extract 1.1, the candidate provided correct answers to the items as
required by the passage.



Further analysis of the candidates’ responses in this question shows that
candidates had an average performance. Some of them were able to
provide two or three correct answers for both parties (a) and (b). Other
candidates could only provide two or three correct answers for one part
among two parts particularly part (@) and left items of part (b)
unanswered. This shows that the candidates lacked sufficient vocabulary
in the Arabic Language.

Despite all that, there were few candidates (10.7%) with weak
performance in this question. Most of them failed to comprehend the
passage. As a result, they copied words of the questions and made them
answers without considering meaning and demands of the question.
Some of them repeated the questions without answering it. This was due
to poor mastery of Arabic Language and few of them left the questions
unanswered.

For example, in item (a-1), one of the candidates wrote reasons led to
environmental pollution problems instead of threats from environmental
pollution problems as follows: ( <o gogdi A o3/ ol Craddl o 1y jal
é4e) “For more resurrection, which led to the emergency of many
problems” where the correct should be as follows: ( i/ &gl CSdia g
4 pdill sl 4adei) “Environmental pollution problems threaten the safety
of the human life’’.

Moreover, in item (a-3), one of the candidates wrote his/her responses
for repeating the same words from the question as follows: ( alaie ¥/ 34/
Ciglilf a Linl) Lilas £ g par iYL 9 “The last decade has increased
interest in the issue of environmental protection from pollution” instead
of bpte <M da ygghi A o3/ (ol Coaill ya 4 jad s i isdll 58) “Because the
environment was exposed to more tampering, which led to the
emergency of many problems”.

Furthermore, in part (b), some candidates could not use the given verbs
(S @ ad ¢ gadil e pdi o5 ) “ran, drink, burst, exposure, change” in a
meaningful sentence. Some of them left the questions unanswered. Other
candidates provided meaningless sentences. For example, one of the
candidates provided his/her answers as follows:



In item (a-3), (“wste ales jadl) “Teacher exploded his school” this
sentence is completely useless because, the word (_a4%) means ‘burst or
exploded or split’. In that context, the correct use of this word should be
as follows: (4w te A el aleall jadil) “Teacher burst out laughing at his
school”.

In item (b-4), (<l i astad) ya 29 “The ruler exposed builds a house”
this sentence is ungrammatical because, the verb (u<e) “Exposure”
should be followed by the preposition (4 5/ J 5/ A “for or to or in”. In
addition, the verb should not be followed by the Present Tense as it is
not in the verbs of defective verbs. In that context, the correct use of this
sentence should be as follows: (duewals cudl gLy 4 aslall 4 2) “The
ruler struggled with the construction of the house”.

In item (b-5), (44/ 2o cunlll tala 429, this sentence is absolutely useless

because the verb given () “Change” was in an active sentence.
Therefore, the correct use of this sentence should be *“( tels (uls i
44/9) “Ali and Ahmad’s clothes changed”.

Another example, one of the candidates provided his/her answers as
follows:

In item (b-4), (4efea Labld 429, this sentence is also ungrammatical
because, it did not indicate any facing of the verb (u<2) “Exposure”.
The correct use of this sentence should be (kelts cuad I dabld cidy )
“Fatima faced with the anger of her teacher”.

In item (b-5), (slek!f S5/ e w49, this sentence is unacceptable because,
the word (Let) “Change” is not followed by any preposition. For that
context, the correct use of this sentence should be (aleklf S/ cdy il
“The time of eating food has changed”.

These candidates manifested lack of sufficient vocabulary and a poor
mastery of the Arabic Language. Extract 1.2 is a sample of a weak
response.
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Extract 1.2: A Sample of Incorrect Responses to Question 1

Extract 1.2 shows responses from a candidate who provided his/her
incorrect answers because he/she did not consider demands and
meaning of the question.

2.1.2 Question 2: Rules of the Arabic Grammar

This question had two parts, (a) and (b). The question aimed at testing
the candidates’ ability to identify and analyse the rules used in the given
sentences. This question was set from the topic of Arabic grammar.

In part (a), the candidates were instructed to identify rules used in the
following underlined words from the given sentences:

1) (ffsd A Lags a5) “How many days a week?”

2) (aly) ¥ 4 jiadl a 4l sle) “Students returned from school except
Ibrahim”.

3) (Vg Galh ) “The thief walked with the wall”.
4) (Ixad 5addll cdlia)) “The tree is full of fruits”.

5) (8w ale/ clall idg) “Students stood in front of the teachers”.
8



In part (b), the candidates were required to change (sl <s2d) causal
adjectives into (st <ig2if) true adjectives in the following sentences:

1) (o idgall S £43) “The man came whose son is polite”.

2) (- Jean 3 bwad) JibY <u5)) “The child took the car, its colour is
beautiful”.

3) (gl Uile cilultls £ 38) “Parents of these students are bright”.

4) (lai8] 47 daide 44 £ »i8) “This room’s windows are opened”.

5) (Leeds Uiudé 5 ad cudld) “ climbed a tree, its trunk is thick”.

This question was attempted by 188 (85.8%) candidates, of them, 53.2
per cent scored from 9 to 15 marks. Additionally, 31.9 per cent scored
from 5.5 to 8.5 marks. Moreover, 14.9 per cent scored from 0 to 5
marks. The overall candidates’ performance in the question is
summarised in Figure 2.
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Figure 2: Percentages of the Candidates’ Performance on Question 2

The candidates performed well in this question. These candidates were
able to identify rules used in the underlined words and change ( <.sei/
ZLwwd) causal adjectives into (4ddal <sedl) true adjectives in the
sentences given. This shows that the candidates had adequate
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knowledge of the uses of Arabic principles. For example, in part (a),
one of the candidates provided his/her answers as follows:

1) (PR i tuai 1oy cipais jwad = Lag )“It is discrimination in
subjective case”

(58U 5 S 0 4a ddle g A g saa adl = £ guu¥)) “It is a preposition in
a genitive case”

2) (sLiliwy) 519/ =¥)) “It is a particle of exception”.
(bl Al dual dodley cipais dlws =2/ ) “It is exception in
accusative case”.

3) () lo A galall J28 = L) “It is a past tense based on fat-ha”.
(BALEN Aatilly i guaia Ana Jgada ;laal) g dmall g)g: gl gl = jlaally)
“And” means together with and the “Wall” is a “Concomitant
object” in accusative case.

4) (5L dad 42d) ddley geim Jeli =5adl) “It is a subject in
nominative case”.
(54 daid duai dodle g cigaia juai =/4ad) “It is a discrimination in
accusative case.”

5) (ilae g8 g 5 LAl dadilly i puaaio GlSall i b =alal) “It is an adverb of

place in accusative case”.
(SR 5 S 0 n Loy ygae 4 dilaa = 54uY) “It is an al-

mudhafu ilayhi in genitive case.

In part (b), one of the candidates provided correct answers as it is
exemplified below:

1) (yi}.«fl S £) “The polite man came”.

2) (et 5 jlucalt Jikall S )) “The child took the beautiful car”.
3) (fite wlbullh £ ¥ 34) “These are bright students”.

4) (4aide 44,€ os) “This room is opened”.

5) (b 5 add il I climbed a thick tree”.

This shows that the candidates had good command of the Arabic
Language and were familiar with the topic of the Adjective. Extract 2.1
is a sample of a good response.

10
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Extract 2.1: A Sample of Correct Responses to Question 2

Extract 2.1 shows responses from a candidate who managed to identify
rules used in the underlined words from the given sentences.
Furthermore, he/she changed (s < seif) causal adjectives into (< sedd
£dda) true adjectives in the sentences given as required.

Further analysis shows that there were candidates who performed
averagely. Most of them managed to provide correct answers to the item
(a-1) in the word (£s«¥) “Week” and item (a-3) in the word (Ul
“Walked”. For example, one of the candidates wrote as follows: ( £/
Sl 5 S 0 n dadle g A gm0 awl =) “Tt is a preposition in a genitive
case” and (g8l o Aim galall Jad = L) “It is a past tense based on fat-
ha”. Additionally, they were able to change partially (el cisedl)
causal adjectives into (Lddall <isel) true adjectives. For example, one of
the candidates changed this sentence (s Jad Sbusl Jibl uS)) “The
child took the car, its colour is beautiful” as follows: ( &bt/ Jdbl/ s,
Jaalh “The child took the beautiful car” instead of ( 5JL‘~J/ Skl S
4Laalh “The child took the beautiful car” because (Lddasf <igeif) true

12



adjectives should follow all the conditions of the praised one like
singular or plural or article.

On the contrary, the candidates whose performances were weak failed to
identify correct principles used in the ten underlined words given.
Furthermore, they were unable to change one or two of (e <ipeil)
causal adjectives into (&dal <igeil) true adjectives. Other candidates
left the questions unanswered. Hence, these candidates attained weak
performance.

In item (a-1), for example, one of the candidates wrote that a word (2s-+)
‘Day’ as (4 [s2dd) ‘Objective’ instead of (eismaie fxad “discrimination in
subjective case’’. Another example, one of the candidates identified as
(ot i i B ¢ Adverb of time’ instead of (esaio iuad “discrimination in
subjective case™ for assumption that the subject case is for the object as
well as the subject case is for the adverb of time.

In item (a-2), for example, one of the candidates wrote that a word (¥)
“Except” is (Lae aw)) One of the preposition instead of (sLiiwy/ 5) is a
particle of exception and (L a«/ a8/ ) Ibrahimu is a preposition in a
genitive case” instead of (¢umads ilwd an exception in accusative
case”. Another example, one of the candidates wrote that a word (%)
“Except” is (Jaf) a condition instead of (sLiiwd/éi9) is a particle of
exception. Then, (4 aw/ a%/ ) Ibrahimu is an abstract noun instead of
(saio  ilws) an exception in accusative case”. Those candidates
lacked sufficient knowledge of Arabic rules. Finally, they wrote
incorrect answers.

In item (a-3), for example, one of the candidates provided her answers as
follows: (#s) “And” as (ke i) “Conjunction” instead of (4eal)
“Together with” and (Ual) “Wall” as (s 4y [s2ds) “Object in
subjective case” instead of (4=e /st “Concomitant object”. This
candidate failed because he/she did not know that a conjunction (s/.s)
“And” depends on the position placed to be as (bt i)
“Conjunction”, (<=al) “Together with” or (a«dl) “Oath” or (<L)
“While/as/when” in the sentence.

13



In item (a-4), for example, one of the candidates wrote that a word
(5adfl) “Tree” as (£.444 /i) “Predicate” in nominative case instead of
(E540 S “a subject in nominative case” and (L) “Fruits” as ( 4 Jsede
—s~aid an object in accusative case instead of a (cisaio i)
“Discrimination in subjective case”. Another candidate wrote that a
word (& al) “Tree” as (£s4 £ i J2d) “Present Tense” in nominative
case instead of (£Fs#4x e a “Subject in nominative case” and (L~
“Fruits” is a (eais Juaf) “Condition in subjective case” instead of a
(¢saio _iza) “Discrimination in subjective case”. Those candidates
lacked sufficient knowledge of Arabic rules. Finally, they guessed the
answer that all the words were in nominative case.

In item (a-5), for example, one of the candidates wrote his/her answers
as follows: a word (L) “In front of” is a (uale! J2d) “Past tense based on
fat-ha” instead of an (o< i) adverb of place” and (JLiwd)) “Teacher”
as a (£F#9r JSeld) “Subject in nominative case” instead of a (L awl)
preposition. This candidate confused with a word (s&e) “In front of” by a
verb because it ended with vowel’s fat-ha due to inadequate vocabulary
in Arabic Language. Another example, one of the candidates wrote that a
word (aLe) “In front of” is a (Ul <) “preposition” instead of an ( <&
olsal) adverb of place” and (JLiwd)) “Teacher” as a (aaio Lla¥ fordal)
“Causative object in accusative case” instead of a (L4 a)) preposition
in genitive case. This candidate lacked knowledge of differentiating
between verbs and nouns. The word (JLiw¥) “Teacher” could not be a
verb.

Furthermore, the candidates were unable to change (4w <s2i) causal
adjectives into (Lddall < eeif) true adjectives in the sentences given. This
shows that they had insufficient knowledge on how to use an adjective in
the Arabic grammar. For example, one of the candidates deleted
adjectives instead of subject or subject of the passive in changing ( sl
Luwd) causal adjectives into (Lddal <) true adjectives as follows:
(1)- (A £&) “The man came”. (2)- (Sbwad/ JikY i5)) “The child took a
car”. (3)- (<l £¥38) “These are students”. (4)- (44 o44) “This is a
room”. (5)- (4 il “ climbed a tree”.

14



Another candidate deleted one part (the relatives’ pronouns) of the
subject or subject of the passive instead of removing the whole word like
this: (1)- (¢! cidgal) Ja £L3) “The man came whose son is polite”. (2)-
(e Jand S bud) JébY <uS)) “The child took the car, its colour is
beautiful”. (3)- (ke Lile cilulh £¥38) “Parents of these students are
bright”. (4)- (/s 4aide 44, »d8) “This room’s windows are opened”.
(5)- (£ 4hud 5 jadd il “T climbed a tree, its trunk is thick”.

The correct answers were supposed to be as follows: (1)- (Jasla
u—'{-d’) “The polite man came”. (2)- ({laat S beed/ Jiblf 1S )) “The child
took the beautiful car”. (3)- ({dile clulh e¥34) “These are bright
students”. (4)- (daide 44,€ 248) “This room is opened”. (5)- ( Saed cudlud
4L.8) “T climbed a thick tree”. Extract 2.2 is a sample of a weak
response.
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Extract 2.2: A Sample of Incorrect Responses to Question 2

Extract 2.2 shows responses from a candidate who provided incorrect
responses to all the items of part (b). Moreover, he/she made
replacement of words (ckeatls a4 “Man and good” to be (#/rws )
“father and yellow” respectively in item (1-2) instead of changing
(sl i p220) causal adjectives into (sl < sedf) true adjectives.

15



2.1.3 Question 3: Arabic Grammar

This question had two parts (a) and (b). The question aimed at testing
the candidates’ ability to apply the Arabic rules by using the
instructions provided. The question was set from the topic of Language
Use. This question carried 15 marks.

In part (a), the candidates were required to write a meaningful sentence
by using the items provided.

1) (Slwal _wal) “The hidden pronoun”.

2) (dsand pY to Liga g 5 paa Gl cigaiadl £ jLaall Jedf) “The present tense
in subjective case is implied with an-mudhmara obligatory after the
lamu of ingratitude”.

3) (Ll pgjnal £ laal Jedl) “The present tense in the jussive case with
lamma”.

4) (¥ Jsedat) “Al-maf-ulu liajlin”.

B) ("alla" feulil | saivyl Jod) “Transcriber madama”.

In part (b), the candidates were required to provide responses according
to the following instructions given.

1) (el po Ligay siual el pdfga Ga cpudil o) “With example,
clarify two places of the hidden pronoun obligatory”.

2) (Jhally 4Lsdi Le L Sliga g Joldl) Jod Cida (5% Ad) “When is the deletion
of the verb of the subject obligatory? Support what you say with one
example”.

3) (fhlaly ""dabld pgull pant C4lantl oo A Cuilill aSs L) “What is the
ruling on the feminine verb in this sentence? ‘Fatima arrived today’
and why”.

4) (L fia S Lgrda pa JISY stei 1) Jogaalt Jodll glis sl <iss) “How is the
indefinite verb in passive voice to be built, If it crosses more than

one object? Give example for what you say”.
16



B) (s Lot Jio fidl) Ao ol Jedll v ) “When is the past tense

based on fat-ha? Give example for what you say”.

The question was attempted by 145 (66.2%) candidates. Out of which,
28 (29.0%) candidates scored from 9 to 13 marks, 70 (38.6%)
candidates scored from 5.5 to 8.5 marks and 47 (32.4%) candidates
scored from O to 5 marks. The general performance in this question
was good as 98 (67.6%) candidates scored from 5.5 to 15 marks, as
summarised in Figure 3.

10 - 38.6

35 4 324
30 4
25+
20
15 A
10

29.0

Percentage of Candidates

0-5 55-85 9-15
Scores

Figure 3: Percentages of the Candidates’ Performance on Question 3

The candidates who performed well in this question wrote some
examples of the items given into meaningful sentences and provided
correct responses according to the instructions given as required. For
example, in part (a), some of the candidates wrote as follows:

1) (¢ &) “The dog barks”.

2) (drsd b 5% #) “He has not become a policeman to steal”.

3) (ol Laly el _u8) “The boy has become an adult but has not yet
polite”.
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4)

5)

In

(sl A ol wdidll | e cdial) “T gave charity to the poor expecting a
reward”.

(Las iR alsla aia9) “You will be respected as long as your
behaviour is good”.

part (b), for instance, some of the candidates provided his/her

responses according to the instructions given correctly as follows:

1)

2)

3)

4)

5)

(s ) i) shha, Siall aslglt ja¥) Jad A Liga g el paal] )50
Labua dajtal) A cbdf : Lia 5 jagy £ guall £ laal) “Plural noun”: “The
two places of the hidden pronoun obligatory are; command in the
masculine one. For example, ‘Work hard my son’ and present tense
that begins with a Hamza. For example, |1 go to school in the
morning.

(o Sl shba . cplisdd] () 5 () 220 @5 1) bisng Joldl) b cidng
il glacddl S g ".... opli Silaiu) cuSsdal) “The verb will be
deleted obligatorily If the subject occurs after ‘Inn’ or ‘ldhan’ for
the two conditions” for example: “And if one of the polytheists
seeks help from you, then reward him...... ” or If the sky splits.

((Juia g Joldll oY Jjlgn 4 ""dabld o gl <o puian " band) odd (4 Coiililf aSa
Jadlt) “The rule of feminization of this sentence (Fatima arrived
today) is permissible because the subject is not connected to the
verb.

(s Ao ¥ sadall (a olie Lo g Jolil) o8 oY) Jsrdall i) “The first
object will be replaced to be the subject and the rest of the
objectives remain the same” for example: ( &/ Lkl JLud) aly
44 2l) “The teacher teaches students the English Language” = ( sl
Lol 4ily Lutbal)) “Students are taught English Language”.

(scha .cpldy) odlf o Al Juail g 4lS gl BB e poid 0 AL Juals ol 1

A ) Cpla i rfia diSlad) St £l hiw o3 ) If nothing else
comes in correct with it. For example, the boy took his book; and if
it will be connected to dual alifu and the feminine tau. For example,
the two people fell down and the girl came to the house.

18



The good performance indicates that the candidates had adequate Arabic
vocabulary and appropriate knowledge of Arabic grammar. Extract 3.1 is
a sample of a candidate’s response.
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Extract 3.1 shows responses from a candidate who managed to provide
examples of the items given into meaningful sentences in part (a).
He/she provided responses according to the instructions given in part

(b).

On the

failed to

Extract 3.1: A Sample of Responses to Question 3

contrary, the candidates whose performances were average
managed to write some correct examples of the items given into
meaningful sentences in part (a). Additionally, most of those candidates
provide some correct responses according to the instructions
given hence, attained an average performance. For example, one of the
candidates provided his/her responses which were wrong as follows:
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In item (b-2), “The verb will be deleted obligatorily if it is in passive
voice. For example, (&l &8 =it 1sll 7224 “The boy opened the door =
The door is opened” instead of ( (H) &/ () 4 &ds 13/ Lisa s Jeldll Jod Ciday
i) placal) 13) 5 ..., e salh jladas) (uS ) o 28] " s Sa o sdd)) “The
verb will be deleted obligatory If the subject occurs after ‘Inn’ or ‘ldhan’
for the two conditions”, for example, “And if one of the polytheists
seeks help from you, then reward him...... ” or if the sky splits.

In item (4-b), If the past tense in passive voice. For example, ( s/ &3
bl i =cilil)) “The boy opened the door = The door is opened” instead
of (s Ao ¥ sedell (o olie Lo g Jeldl & Jo¥) Jordall l) “The first
object will be replaced to be the subject and the rest of the objectives
remain the same”, for example, (Lsall 441 Lublf Jlin¥) ale) “The teacher
teaches students the English Language” = (4wl 4ill Lubl ale)
“Students are taught English Language”.

Furthermore, the candidates with weak performance were unable to
write one example of each of the items given into meaningful sentences.
They also could not provide responses according to the instructions.

In part (a), for example, one of the candidates provided some of
incorrect responses as follows: (1)- (:(~ ¥ sdiwal/ padall Jiafl) “Example
of the hidden pronoun obligatory” as (slw¥ (e /4l “They
worshiped Idols” instead of (sLiw¥ L& oL “He worshiped Idols”. (2)-
(VS Jpaall oY 2 Ligay 8 e b cipaiadl £ Laal Jdl) “The present
tense in subjective case is implied with an-mudhmara obligatory after
the lamu of ingratitude” as follows: (4¥/ _éé&4) “God will forgive” instead
of (cuilia déut 4 iS L) “God would not forgive the hypocrites (3)-
(:90 LS agiaall g liad Jdl) “The present tense in the jussive or
imperative case with lamma” like (#4/ Ld) “When he came to her”
instead of (4els o/ <l Lalg il 2340 (§)) “The boy shut the door, when
his and mother did not come yet”. (4)- (da¥ Jsedall Jiial) “Example of
causative object”: (dutel! I ey gudddf alabsll 1t S5y “The boy ate food
to be full and went to school” instead of ( Lo stall H wilad Jd aleblf sloll S5/
Esall (e Ugl) “The boy ate food before he went to school for fear of
starvation”.
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Another example, in part (b), one of the candidates provided his/her with
some incorrect answers as follows:

Initem (b-1), (a0 e sSds ot Joldl) LS 1) - Lab sllewal] ppaidal) puidsl g (1o Gl
Sl d3 Sha o ggaall Liisa Jolil) SIS 13/ - (19%8) “Two places of the hidden
pronoun obligatory” are: (a)-If the subject is not mentioned, for
example: They are crying (b)- If the subject is passive, for example: The
book was taken instead of ( <a/alf 4o/ Jed 4 Ligay siiaal el g g0
bbuo duytadl A cbdf :fia 5 jegy £ gpal) £ liaall Ay A gin) e, Sial)
“Plural noun™: “The two places of the hidden pronoun obligatory are;
command in the masculine one. For example, ‘Work hard my son’ and
present tense that begins with a Hamza. For example, | go to school in
the morning.

In item (b-3), one of the candidates provided his/her answer as follow:
(Listdly Coilil) plis Jadll Sl 98 ""Labild o gull & pan?” LLaadf odd (A Cuilil) aSa)
“The rule of feminization of this sentence (Fatima arrived today) is the
connection of the verb with the feminine consonant” instead of ( a<a
Jeily Juale g Jold) OF Jlsa sb "abld o gl o paat Laad) sdb A Cilll)
“The rule of feminization of this sentence (Fatima arrived today) is
permissible because the subject is not connected to the verb”. Extract 3.2
is a sample of such a weak response.
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Extract 3.2: A Sample of Incorrect Responses to Question 3

Extract 3.2 is a sample response of a candidate who provided incorrect
examples all the parts of question 3.

23



2.1.4 Question 4: The Use Rules of Morphology

This question had two parts, (a) and (b). In part (a), the candidates were
instructed to respond to the given items. In part (b), the candidates were
required to create infinitive for the given verbs. The question tested the
candidates’ ability to comprehend the Arabic morphology. The question
was set from the topic of morphology. The following are the five (5)
items which were given in part (a).

1) (Lagdo taly S Gulliay Lagglss . Ol o7 idll)) “There are two types of verb
al-lafifu. Identify each one by providing two examples .

2) (o daly J Jdaill pa " Sed" oifgf o “By giving one example,
identify abuwabu faila.

3) (Jsriad acly Joldll acl Lelua (1o i AN e g) “Explain the purpose of
using active participle and passive participle”.

4) (cplia ida) of Sa U Jdll Ge i ils) “What do you understand
about the intransitive verb? Support your answer by two examples”.

5) (Ll jdlas & i cdss) “How can you identify infinitive with three
letters?”.

In part (b), the candidates were required to create infinitive for each
verb as instructed. The question was as follows:

- (R G i) it i Y JadY) 0db (o Jad SSI ] jtiae i)
form infinitive from the following verbs; welcome- terrify- burn-
make something good- go.”

The question was attempted by 210 (95.9%) candidates. Out of whom,
99 (47.1%) scored from 9 to 15 marks, 73 (34.8%) scored from 5.5 to
8.5 marks and 38 (18.1%) scored from O to 5 marks. The general
performance in this question was good as 172 (81.9%) candidates
scored from 5.5 to 15 marks, as summarised in Figure 4.
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Figure 4: Percentages of the Candidates’ Performance on Question 4

The analysis shows that candidates who performed well in this question
identified two types of verb al-lafifu and abuwabu faila by giving
examples. They also explained about the purpose of formulating the
active participle and passive participle, the intransitive verb with
examples correctly and infinitive with three letters. Furthermore, they
were able to form infinitive for each of given verbs as required.

For example, in part (b), one of the candidates provided his/her correct
responses as follows:

1) (s o0 itda oaly L3l Lic) La s4 :¥5) “Al-lafifu al-mafruq is the
first letter and the third is in a weak letter. For example, ‘apprehend’
and ‘honour’ and (s - w88 :te GLAYI Gl Jie) Lo gb ;L) “Al-
lafifu al-magrunu is the second letter and the third is in a weak
letter. For example, ‘Howl’ and ‘fold’.”

2) (zH4- g rhie = Jads - J2d) “Faila - yaf-alu = for example: Fariha -

yaf-rahu.”

(e - craan r o = fods— Jod) “Faila - yaf-ilu = for example: Hasiba

- yah-sibu.”
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3) (Jlaryl g bysaial) {IY1l 58) “It is the intended meaning with
brevity”.

4) (&Ju{/ﬁwﬂ.’lﬁj o o ‘,EEJ/PU;‘ﬁa,JGﬁg.Zlgﬁy é;.U/Ju'J/ﬂ)
“It is a verb that needs only a subject. For example, the baby slept
on his bed and the traveler has returned to his homeland”.

5) (cubilly flacdd) gf aaleall o Jiilly AU Jodll ilas &) The infinitive
of the verb with three letters is known by quoting from dictionaries
or listening and measurement.

Another example in part (b) is shown by one of the candidates
managed to form infinitive from the given verbs as required.

(Ll =cudd — Lia = Gun — U] fia) = (§ sin) — Lild g = cad_jj — Lua 47 = ¢id) “t0
welcome- to terrify- to burn - to make something good - to go”.

This good performance shows that the candidates were familiar with
the Arabic morphology tested. Extract 4.1 is a sample of a candidate’s
responses.
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Extract 4.1: A Sample of Correct Responses to Question 4
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Extract 4.1 shows responses from a candidate who managed to provide
correct responses in part (a) as well as forming correctly infinitives in
part (b) as required.

Further analysis shows that the candidates who performed weakly in
this question failed to identify two types of verb al-lafifu and abuwabu
faila by giving examples. They also were unable to explain about the
purpose of formulating the active participle and passive participle, the
intransitive verb with examples correctly and infinitive with three
letters. Furthermore, they were unable to create infinitive for each of the
given verbs.

In item (a-1), for example, one of the candidates confused the two
types of verbs al-lafifu al-mafrug and al-lafifu al-maqgrunu and
provided vise vasa explanations as follows: ( .osals 3/ Jic/ La g4 : 35/
s3d -5 52 :Jie) “Al-lafifu al-mafrug. is the second letter and the third is
in a weak letter. For example, ‘How!’ and ‘fold” instead of ( il - ¥ 3/
A9 e oy ULy Lic) La g4 2 dg4ad) “Al-lafifu al-mafrug is the
first letter and the third is in a weak letter. For example, ‘apprehend’
and ‘honour’ and ( - £y :He LAY Sl a Jio ) Lo g 209 al) dudll - Luili
9 “Al-lafifu al-magrunu is the first letter and the third is in a weak
letter. For example, ‘apprehend’ and ‘honour’ instead of ( «dudllf ;Luli
ssd - 58 s S LAY Gl a i) Le s 25440 “Al-lafifu al-magrunu is
the second letter and the third is in a weak letter. For example, ‘Howl’
and ‘fold’.”

Another candidate provided examples of one weak letter for example:
(s 2 “walk and throw” for al-lafifu al-maqrunu and (Jf<s +£ 9
“promise and reach” for al-lafifu al-mafruq instead of ( il 3/
9 ha 0 g L3 L) La g4 ;49 el “Al-lafifu al-mafrug is the
first letter and the third is in a weak letter. For example, ‘apprehend’
and ‘honour’ and ( - g :He LAY Glia Jio) Lo gt 2 el dadll - Luils
ssd) “Al-lafifu al-magrunu is the second letter and the third is in a
weak letter. For example, ‘Howl’ and ‘fold’.”

In item (a-2), for example, one of the candidates identified ("cted” </s/)

abuwabu faila with examples as follows: (a)- (¢iSeeui ;Lo = L4/ - Lo§

“Faila-yaf-ulu= example: kataba-yak-tubu” (b)- ( - s fie = fedr f2d
28



« <) “Fa-ala- yaf-ilu= example: dharaba —yadh-ribu” which were
wrong. The correct responses were supposed to be as follows: (a)- ( 4
CH - o4 S = Jadi ) “Faila - yaf-alu = example: Fariha - yaf-rahu.”
(b)- (ceny - crwaa s tia = f2ds — J2d) “Faila - yaf-ilu = example: Hasiba -
yah-sibu.”

In item (a-3), for example, one of the candidates wrote the purpose of
formulating (Jsedef aw/y Jeldll aw) the active participle and passive is a
(a2l Pronoun and (< £L9 the feminine consonant instead of ( 4
Iy gea b4 gaiadl LIYAN) |t is the intended meaning with brevity. Also,
one of the candidates wrote the definitions of the active participle and
passive instead of the purpose of formulating (Jstiell awly feldlf o))
whereby (JLasy! g s4paiall LIY1l 48) “It is the intended meaning with
brevity.

In item (a-4), one of the candidates explained incorrectly about the
intransitive verb. For example, he/she wrote ( J/stde a Db Lo g4 a O Jedlf
(adeatf oS :f2a 4 “It is @ verb that keeps close to object”. In another
example, one of the candidates wrote that ( <o e I Lo 48 2 DU Jedll
4494 o) it is a verb that indicates the letters, which were incorrect.
The correct responses were supposed to be as follows: ( g/ Jedll 08
by A el Ao g 0 pos o Jibl 2L s fla  Jold ) zLiad) “Tt is a verb that
needs only a subject. For example, the baby slept on his bed and the
traveler has returned to his homeland.

In item (a-5), for example, one of the candidates wrote his/her incorrect
response that the infinitive of the verb with three letters is known by
measure (ct29) “Af-ala”. Another candidate wrote that the infinitive of
the verb with three letters is known by seven measures ( (ed — e - Jod
Hed - Jlad_ LLad_ Lid ) “Fi-alu- fia-latu-fia-alani-faiylu-fiilatu-fualu-
faalalu” instead of explaining that the infinitive of the verb with three
letters is known by quoting from dictionaries or listening and measure.

In part (b), for example, one of the candidates provided incorrect
answers as follows: ( =gwa (s = dsn/ b =cb ) o) =ciay
(bed i =cud Liwad “Rahaba= Rahibu, Ar-haba=Murhibu, Ih-taraga=
Muh-tariqu, Hasuna= Tah-siyna, Dhahaba= Tadhiyban”. Another
example, one of the candidates provided his/her answers by making
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measures like this ( =cd Jod =guans Jaldl =4 is) (Jad] =cb ) (Jtd =3
J) “Rahaba=fa-ala, Ar-haba= Af-ala, Ih-taraga= If-taala, Hasuna=
faula, dhahaba= fa-ala” instead of creating infinitives as follows: ( ¢«
Llad =cibd — L = G — B da) = Ga) — Lo ) = ol — Lua i =) “to
welcome- to terrify- to burn - to make something good - to go”. This
shows that those candidates had insufficient knowledge of the infinitive
in Arabic. Extract 4.2 is a sample of a weak response.
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Extract 4.2: A Sample of Incorrect Responses to Question 4

Extract 4.2 is a sample of response of a candidate who used
measurements in answering all the questions which were not related to

the demands of the questions.
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2.1.5 Question 5: The Use of Morphology by Rules

This question had two parts (a) and (b). In part (a), the candidates were
required to answer the given five items of the question. In part (b), they
were instructed to change the given verbs into abstract verb. The
question tested the candidates’ ability to understand the morphology.
The question was set from the topic of the morphology. The following
are the five (5) items which were given in part ().

1) (fdral ale £ 940 L) “What is about morphology”.

2) (freedly sl s G (40 L) “What is the difference between
an explicit infinitive and infinitive with miymu?

3) (i Yo cls § D0 Jedl) (3o Jsrdal) anl flas <dsS) “How is the passive
participle formed from the triple verb? (Give one example)”

4) (- J-tng- i Al g el lgie Jad JS acl cuiS) idline LY SadY)
s~) “The following are the weak verbs; write name of each verb of
them regarding the weak letters.

B) (i Lo 95 sl cd pall (a £ piaall Jadds e) “When is a noun which
does not observe the rules of inflection placed a sign of Kas-ra in
genitive case?”

In part (b), the candidates were required to change the given verbs into
abstract verb. The question was as follows:

- (ALY — ST — L] — s p) — g pai — 14T 259 e LY 5y jal] JldYI Jea))
&b agdf labl— Jaid/ ) “Change the following verbs into abstract
verb; giving birth — roll- appease — grope — fight — move — include —
reassure- understand — cut”.

The question was attempted by 206 (94.1%) candidates, of whom 43.7
per cent scored from 9 to 15 marks, 39.3 per cent scored from 5.5 to
8.5 marks and only 17.0 per cent scored from 0 to 5 marks. The
analysis shows that the overall candidates’ performance in the question
was good since 83.0 per cent scored an average of 35 per cent or
above. The performance is summarised in Figure 5.
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Figure 5: Percentages of the Candidates’ Performance on Question 5

The data show that majority (43.7%) of the candidates performed well
in this question. These candidates managed to explain what morphology
is about, the difference between an explicit infinitive and infinitive with
miymu. They also explained passive participle formed from the triple
verb with examples, wrote name of each verb regarding the weak
letters. Furthermore, they explained the extent to which a noun that
does not observe the rules of inflection is placed a sign of Kas-ra in
genitive case. Moreover, they changed the given verbs abstract as
required. For example, in part (a), one of the candidates provided
his/her correct responses as follows.

1) (44 aiall Jad¥| g 4y snall plaw¥) 28) “It is a noun muuraba and a verb
mutasarifa”.

2) (@O o Sy Jedl) Jid] o 35y s peal] jucaal) O i 513 e Lol (3 pdlS
b} et ottt jtaal) Laf 4Lidl) The difference is an additional
letter (Miymu) as the explicit infinitive is taken from the word of the
verb and mentioned in the speech by its word. As for the infinitive
with miymu begins with a miymu derived from the verb.
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3)

4)

5)

In

(S =caS o Jla ") prda"" (g o AU Jadl 1o s2dad) a] ELa) The
passive participle is formed by using measure (maf-ulu) example:
Kataba- mak-tuw-bu.

(— g = — Jlial) =aa g - pallil) = ~did - A0y Llinad) JadY) plaf

udlill = g 4 “The following are the weak verbs with its names as

follows:

- Fear = a defective verb, - Is found = a verb mithali -acquire = a
verb aj-wafu - to be honorable = a defective verb.

(St il sl fia o plaa of lilaa SIS 1) 6 peaSlly b pual] (10 £ piaal) adiy
Lragall (i phtall 8 5030 sl gf dagSall i lta ) “a sign of Kas-ra in
genitive case is prohibited, if it will be a mudhafu and an article
‘the’. For example, | want to visit the government school or | want
to visit the school’s government”.

part (b), for example, one of the candidates provided correct

responses as follows: ( — gty = sl — g oad =g adi— alg=1is7)
=agdl — Olab =(lab) — Jfod = faild) - J&i=EL) S =fild5— jlad = jladi/
aLi =2 ki agd to be born=gave birth — to be rolled=rolled- tried to
please=pleased — to be disgusted=disgusted —fighted one another=
fighted— moved to=removed- included=involved — to be peaceful=
assured- to be understood=understood — to be cut=cut”. Extract 4.1 is a
sample of a candidate’s responses.
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Extract 5.1: A Sample of Correct Responses to Question 5

Extract 5.1 shows responses from a candidate who managed to provide
correct responses to all the questions of part (a) required.

On the contrary, the candidates with an average performance managed
to explain the morphology and provided the difference between an
explicit infinitive and infinitive with miymu. They also changed the
given verbs into abstract verbs. On the other hand, most of those
candidates failed to explain how the passive participle is formed from
the triple verb by indicating examples, write name of each verb of them
regarding the weak letters and the extent a noun which does not observe
the rules of inflection placed a sign of Kas-ra in genitive case. This
shows that those candidates had insufficient knowledge of Arabic
Language morphology.
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In contrast, there were few (17%) candidates who performed weakly in
this question. These candidates failed to provide correct responses in
explaining the morphology, providing the difference between an
explicit infinitive and infinitive with miymu. Moreover, they were
unable to explain how the passive participle is formed from the triple
verb by indicating examples. They also failed to write name of each
verb of them regarding the weak letters and the extent a noun which
does not observe the rules of inflection placed a sign of Kas-ra in
genitive case. Furthermore, they could not make the given verbs
abstract due to insufficient knowledge of the topic of morphology.

In item (a-1), for example, one of the candidates wrote that ( s £ 4
LLant) 4 Lgalliti] S Lalsl) Ll JI 9298 d al)) “The morphology” is the
conditions of word structures before their regularity in the sentence. In
another example, one of the candidates wrote as follows ( ¢ Jtwd! G s
4Ll o 4ild 5le) a9 LN “Preserving the tongue from error and observing
the law of language. The correct answer was supposed to be ( slaw/ st
44 paiall J2dY| 5 4 seal)) “It is a noun muuraba and verb mutasarifa”.

In item (a-2), for example, one of the candidates provided the
difference between an explicit infinitive and infinitive with miymu as
follows: (el bl o il jtiaalf 98 ey puaall jsaal) “an explicit infinitive
is the infinitive that was connected by vowel “Dhamma” and ( e/
il Juail il sl g4 aad) infinitive with miymu is that infinitive
that was connected by accusative case. Another example, one of the
candidates wrote that “an explicit infinitive is the infinitive that
indicates actions and infinitive with miymu is that infinitive that
indicates all the infinitives. These responses were wrong. The correct
responses were cfedll Bl e 38 g ey wall jaall Gf Cun 510 ava Lagiu (4408
B i Ity aial) yticaral) Lof 4 idls 23S 4 4Siig) The difference is an
additional letter (Miymu) as the explicit infinitive is taken from the
word of the verb and mentioned in the speech by its word. As for the
infinitive with miymu begins with a miymu derived from the verb.

In item (a-3), for example, one of the candidates provided his/her
answer that ( st Lase de jlaad i s Sl A Jadl) a Jsrdal] acil £ lcay
o e = +d) the accusative noun is formed from the triple verb by
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replacing present tense letters with letter ‘miymu’. For example: ( £t
S 2 e S ) g8 N Jdl] o [ pdal) asl) “drink= drinking place”.
Another candidate wrote that ( gidll e LN Jedll e Jordal) acil flucy
4aid ; /1) the accusative noun is formed from the triple verb by vowel
‘Fat-ha’. For example, ‘kataba’ instead of (D Jedll (v Jsrdal) acdl flucy
gifa =S o Jia 1 Jgrda" O iy ) “The passive participle is formed by
using measure (maf-ulu) example, Kataba- mak-tuw-bu”.

In item (a-4), one of the candidates used the weak verbs to form the
sentence like this (4[4l & 229 “Aliy found the fruits”. Another
candidate changed the weak verbs into nouns instead of writing its
names by considering the letter contained in the verb as follows: (=&
ol =g s — g af =i el =4 2y el )  “Fear=nagis—
found=mithali—obtained=aj-wafu—Cypress=naqis” due to
misunderstanding of the requirement of the question.

In item (a-5), one of the candidates wrote that ( <l (= £ s-iaall iy
Olardl Gra shia o jatl 593 (o 519] 4L LS 1) 5 uSI) “q sign of Kas-ra in
genitive case is prohibited if it will be a particle among the particles of
jussive case, for example: "Numani”. Another candidate provided
his/her answer as follow: ( el <dlf LS 13/ 5 iy d paall (1o £ piaadl iy
Labliy cuisj ; fia <4504l 3 sign of Kas-ra in genitive case is prohibited if
it will be a letter ‘Alifu taanithi al-mam-dudi’, for example, Zainab and
Fatma” instead of ( ¢ e o/ tilaa S 1) 68 pusllly b ) (3 £ giaad] by
Loagall pupltall (5 50 Conf of LagSall uplta () 5N Caf 2 Jia S “a
sign of Kas-ra in genitive case is prohibited when if it will be a
mudhafu or an article ‘the’. For example, | want to visit the
government school or I want to visit the school government”.

In part (b), some of the candidates identified the weak letters instead of
making abstract. For example, one of the candidates wrote that ( =afgi
ciwaly £L) “the verb ‘Giving birth’ has weak letters Attau and Tadhi-
ifu and (Cells <it¥) <5 iad = & siul) verb ‘reconcile’ has weak letters
Hamza, Alifu and Siyn”. Other candidates wrote measures of verb
instead of making abstract. For example, one of the candidates
provided his/her responses as follows: ( =agd/ «fadil = Ldiif ¢ foldi = Lildi
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J2d) “Takatala=tafaala, In-takala= in-faala, Af-hama=

Extract 5.2 is a sample of a weak response.

Af-aala”.
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Extract 5.2: A Sample of Incorrect Responses to Question 5

Extract 5.2 is a sample response of a candidate who provided measures
of verbs instead of making them abstract as required in question 5.
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2.2 Section 2: Essay Questions

This section had three questions which were 6, 7 and 8. Both questions 6 and
7 dealt with essay writing while question 8 was on letter writing. Each
question carried twenty (20) marks.

2.2.1 Question 6: Essay Writing

In this question, the candidates were required to write an essay on the
importance of the library which should not exceed 200 words. The
question aimed at assessing the candidates’ ability to express
themselves in Arabic. The question was set from the topic of
composition.

The question was attempted by 127 (58.0%) candidates who sat for the
Examination. The performance shows that, 15 (11.8%) candidates
scored from 12 to 16 marks, 46 (36.2%) scored from 7 to 11 marks and
66 (52%) scored from O to 6.5 marks. The general performance was
average because 61 (48%) candidates scored above average marks as
illustrated in Figure 6.
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Figure 6: Percentages of the Candidates’ Performance on Question 6
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Few candidates scored high marks in this question. These candidates
managed to write an essay on the importance of the library. They also
wrote their essays in not less than 200 words. Furthermore, they
structured their essays into introduction, main body and conclusion in a
good logical flow. Hence, they scored high marks. For example, one of
the candidates explained the importance of the library as follows:

(Sl oY ArdLil agi ySIda A Ol dule sainy odl agad) S35 OS M A 4iiSals

b SNl 58 b [958 A LS aSy lgd aglelglte A gy OB € gui S
Laddl) Cila pleal) cudiSi of pobaicai (g 5 piSl) Laddl| cila pleal) (o Ul g i LuiSalf
bl ) A Ll g LiiSal) (L Lo g L g Lia gy Codad g i g0 o i 1) YY) Al 4l
dilisal) i<l 6 deii] g Cilalva Ao sad lleay AL 55)

“A library is the first important pillar that students rely on in their
useful studies. This is because, the credit for the students’ brilliance is
due to their perseverance in it and how many books they read in it.
Studying a lot in the library provides students with much useful
information. You will not be able to gain extensive valuable
information unless you donate your time and spend a lot of time in the
library every day, especially during the holidays. As such, that makes
you go through large areas in different books.” This suggests that those
candidates had sufficient vocabulary and good command in the Arabic
Language. Extract 6.1 is a sample of a candidate who responded well.
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Extract 6.1: A Sample of Correct Responses to Question 6

Extract 6.1 shows a part of responses from a candidate who managed to
explain about the importance of the library despite a few grammatical

errors and spelling mistakes.

On the contrary, the candidates who had an average performance
managed to explain on the statement given. However, their explanations
were insufficient and incoherent. On top of that, their responses had
grammatical errors and spelling mistakes. For example, one of the
candidates wrote, ( /4f «cdslf (o 5pdS W& BN SIS 13, o AN il Aoy LSl
I A& | plass 5408 [ N3] 40Y S tias agidd oy O abaeluwd) where this
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passage had repetition and a lot of grammatical errors. The
grammatically correct sentence ( gsilll a8/ sica 24, Ao bl LiSal) sole
LiiSall (8 | S Sl g b [galila o puS da N agidl ki gl) “The library
helps students to raise their levels of language or develop their language
to a large extent, as long as they read a lot of books in the library”. This
shows that those candidates had insufficient vocabulary in the Arabic
Language.

On the contrary, there were some candidates who performed weakly in
this question. Most of these candidates provided insufficient and
unclear explanations. Additionally, their responses had a lot of spelling
mistakes. A few of them copied some texts from paper and used them
as answers. This indicates that the candidates had inadequate
vocabulary and a poor mastery of the Arabic Language. Extract 6.2 is a
sample of a poor response.
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Extract 6.2: A Sample of Correct Responses to Question 6

Extract 6.2 is a sample response from a candidate who provided
unclear explanations on the importance of the library due to poor
mastery of Arabic Language.
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2.2.2 Question 7: Essay Writing
In this question, the candidates were required to write an essay about
school cleanliness which should not exceed 200 words. The question
aimed at assessing the candidates’ ability to express themselves in the
Arabic Language. The question was set from the topic of composition.

This question was attempted by 134 (61.2%) candidates, out of whom
87 (64.9%) scored from 0 to 6.5 marks. Moreover, the data indicate
that, 38 (28.4%) candidates scored from 7 to 11.5 marks and only 9
(6.7%) candidates scored from 9 to 16 marks. The general performance
of the candidates in the question was average, as only 47 (35.1%)
candidates scored an average of 35 per cent and above, of the 20 marks
allocated to the question. The overall candidates’ performance in the
question is summarised in Figure 7.
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Figure 7: Percentages of the Candidates’ Performance on Question 7

Further, few candidates (6.7%) had a good performance in this
question. These candidates explained about school cleanliness which
did not exceed 200 words. Also, they structured their essays logically
into such components as introduction, main body and conclusion in a
good logical flow. As a result, they scored high marks. For example,
one of the candidates provided correct responses as follows:
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(Lol g, Lgd nay il il g pind) LALBT | lcad) Slin 6 Aalgl) £ L) e
gl bl sl LAED 2Ll |, SLa¥) g alasa ¥ & Lalay]g Flag) UL jf LaLina
&ad (A Jsalll aglodag ) gilhl) 6 ogdsdy Jod AL oLl 2 4 (10 ageald 2y
gl g S gaadl] ccuilSall ccilaland) cd plall Cilabe s fia s jaall dale 58] 1o
Lua g LgmidLlii o a padl Uil o cuny 4 pa¥) adf o A jtad) 4 LB o) o) ]
b gy O ) A ptad] ) agel 3 g 22)

“Among the important things in a person’s life is cleanliness of the
body and the environment in which he/she lives. Cleanliness means
removing dirty and keeping it away from the bodies and places.
Students are to clean their bodies after walking up as well as before
standing assembly and entering classes in all public facilities of the
school such as: school yards, bathrooms, offices, classrooms and
blackboards. Additionally, cleanliness in the school is one of the most
important things that students must take care of daily. This can be done
as soon as they enter school premises until they leave.” This suggests
that the candidate had good command of the Arabic Language. Extract
7.1 is a sample of a candidate who responded well.
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Extract 7.1: A Sample of Correct Responses to Question 7

Extract 7.1 shows a part of responses from a candidate who managed to
explain about school cleanliness as required.
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Further analysis of the candidates’ responses shows that there were
some candidates who had average performance. These candidates
managed to write explanation on school cleanliness but their responses
had some grammatical errors and spelling mistakes. Moreover, their
responses were insufficient in terms of number of words. For example,
one of the candidates wrote his/her responses with a lot of grammatical
and spelling mistakes as follow; ( (4 -alifly atealf Ly Lo utall 4 L4LLY
Sl agdg i pall Bidng) This candidate intended to write like this
(AN il o Abildaallg ) pa¥) pia Ao $1adig Spalrs du jtall 4 A8UEL solsi
Lol ptl) agbldi ilali] (s pg-iSai dsi) “Hygiene in the school helps
teachers and students to prevent diseases and preserve the environment
that will enable them to refresh their academic activities”.

However, there were candidates who performed poorly in this question.
Most of these candidates provided insufficient and unclear
explanations. Some of them provided their explanations which were not
related to the demands of the question. This was due to poor mastery of
Arabic Language. For example, one of the candidates explained about
the things and activities available in the school compound instead of
explaining about school cleanliness. Additionally, their explanations
had a lot of grammatical and spelling mistakes. Extract 7.2 is a sample
of a weak response.
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Extract 7. 2: A Sample of Incorrect Responses to Question 7

Extract 7.2 is a sample response from a candidate provided unclear
explanations on school cleanliness due to poor mastery of Arabic
Language.
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2.2.3 Question 8: Letter Writing

In this question, the candidates were required to write an informal letter
to reply to those who sent congratulations on the occasion of obtaining
educational certificates. The question aimed at assessing the candidates’
ability to express themselves in the Arabic Language. The question was
set from the topic of Language Use.

The question was attempted by 174 (79.5%) candidates, out of whom,
18 (10.3%) scored from 12 to 15.5 marks, while 55 (31.7%) candidates
scored from 7 to 11.5 marks and 101 (58%) scored from O to 6.5 marks.
The general performance in this question was average as 73 (42%)
candidates obtained as summarised in Figure 8.

70

58.0

60 -

50

40

30 A

20

Percentage of Candidates

10.3

.

7-11.5 12-155
Scores

10 A

0 -

Figure 8: Percentages of the Candidates’ Performance on Question 8

A few candidates (10.3%) performed well in this question. They wrote
good letters. They adhered to the principles of writing informal letters.
Moreover, they correctly structured their letters by appropriate position
the address, salutation, main body and a conclusion. They rightly
replied to those who sent congratulated them on their occasion of
obtaining the educational certificates in a good logical flow. For
example, one of the candidates wrote as follows:

47



( (iladiy ) (AiLsTg ., g ped] SS bgeiif B die &y S g Hilley y il g < g jad) ST
Wl OIS oY) A LT o L o prdig LS daiily plail) 531 Igia e g 7 4l
AaSal[y B0 o g Lol @Boll o) (i Y

“My dear brother,

| received your letter and | was very pleased to read it. | was really
joyous and | came to realise the taste of passing exams of being
successful which is a result of much struggle. | felt that you are with me
sharing the happiness. Your letter had the most beautiful impact on me
because of its eloquence and wisdom™. This implies that the candidates
were competent in the Arabic Language. Extract 8.1 is a sample of one
of the candidates in this category.
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Extract 8.1: A Sample of Correct Responses to Question 8
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Extract 8.1 shows responses from a candidate who wrote an informal
letter correctly in a good logical flow. The candidate adhered to the
principles of formal letter writing.

Further analysis shows that there were 55 (31.7%) candidates who
performed averagely. These candidates adhered to the principles of an
informal letter writing. They correctly wrote the address, greetings,
main body and a conclusion. However, their responses had a lot of
grammatical errors and spelling mistakes. Hence, they were moderately
awarded and performed averagely. For example, one of the candidates
wrote the following spelling mistakes as follow: (gl - Jusl/ — dewsal))
instead of (il - Ul o/ — deali) “Students-Letter -Secondary”. Another
example, one of the candidates wrote (ol - e/ b — dawadf 9
instead of (oLl - pdeddl &L — dawa 9 “In your body — Send salute —
Neighbour” due to poor command of Arabic Language.

On the contrary, there were some (58%) candidates who performed
weakly in this question. Most of those candidates had inability to
express themselves by using Arabic Language. They wrote unclear
explanations or repeated the question. Other candidates provided the
explanations which were not related to the demands of the question. For
example, one of the candidates wrote explanations related to a job
application letter instead of congratulations on the occasion of obtaining
the educational certificates. A few of them adhered to the principles of a
formal letter writing instead of writing an informal letter writing. Those
candidates lacked sufficient vocabulary in Arabic Language or had
difficulties to comprehend the demands of the question. Extract 8.2 is a
sample of a weak response.
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Extract 8.2: A Sample of Correct Responses to Question 8

Extract 8.2 is a sample response from a candidate who provided
explanations which had a lot of grammatical errors and spelling
mistakes.
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3.0 ANALYSIS OF THE CANDIDATES’ RESPONSES IN EACH QUESTION
IN ARABIC LANGUAGE PAPER 2
3.1 Section 1: Short Answer Questions

This section had five questions and the candidates were required to attempt
four (4) questions. Each question carried fifteen (15) marks.

3.1.1 Question 1: The Eloquence and Rhetoric

This question had two parts, (a) and (b). The question aimed at
assessing the candidates’ ability to understand the concepts of (4€34)
“Al-balagha” and (4stadf) “Al-fasha” in rhetoric. The question was set
from the topic of rhetoric.

In part (a), the candidates were required to answer the following five

items given;

1) (4l ladl G Ll God e laly B4 z&g) Clarify one
difference between eloquence (4aladf) “Al-fasaha” and rhetoric
(4e30 “Al-balagha”.

2) (Foled ods JE5 s Mouie odf muall madf') When is this phrase said?
‘The morning dawn broke to those who have two eyes’

3) (el Jigy Jpaaiall Lo MMl aiial 2)SN diilha 4 42500") What does
this mean? “Rhetoric is the conformity of speech to the need of the
situation”.

4) (FLEd 4 jlga L) b i) How does a person develop rhetorical
skills?

5) (8 (o cuagd JiLa 7., Al y A 5 e s g Sl ins 5 0 ALY
fedy 2i) What do you understand from this definition? “Rhetoric is
the performance of the meaning of the great and clear with a correct
and eloquent phrase......... "

In part (b), candidates were required to read the following passage and
then to identify each metaphor contained in it as well as clarifying its
statement of relationships: ( (=~ 39 culaaall s gdi A 5 pa LalS ala¥) AN
gl e agild] B ageilal G stray pulil) 33[g Jjliad) Cats dicla dilal ol
A i delall o) o[ old8 alt 5 glaal) (o il cillas o L) SISy yar o) 2 g
g a5 g ey i) o 58T Ly in sl € o ) Lag elJull] cdeariia
[$5 i ) Clpanl) lany ot pad) s Lasesd g i) LIS Cia oF | ) (e
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L agisda B O olSh pdll dilyl ccdia gy ¥ LA lSall B [ gitafg Guldl) COISia)
“The Imam delivered a speech which affected the hearts of worshipers.
He mentioned the district that was hit by a lightning strike that
demolished houses and people started putting their fingers in their ears
because of its intensity. He said: Some news agencies asked the
villages surrounding the district, and they said. The thunderbolt
occurred in the middle of night, and as soon as dawn broke, we saw
groups of people leaving the district, their eyes dripping with grief.
Then another disaster occurred. After the atmosphere calmed down,
some gangs attacked the district, stole people’s properties and caused
indescribable damage to the place, those who ate fire in their stomachs.

Data show that the question was attempted by 196 (89.5%) candidates,
whereby 13.8 per cent scored from 9 to 13.5 marks. Moreover, 35.7 per
cent of them scored from 5.5 to 8.5 marks and 50.5 per cent scored
from 0 to 5.0 marks. Among the candidates with weak performance,
13.7 per cent scored 0 mark. The general performance of the candidates
in this question was average. This is because 49.5 per cent scored
below of 30 per cent of 15 marks allocated to this question. The overall
performance of the candidates in this question is summarised in Figure
9.
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Figure 9: Percentages of the Candidates’ Performance on Question 1
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The candidates who performed well in this question were able to
answer the five items given. They also managed to identify metaphors
contained in the passage and clarified its statement of relationships as
required.

For example, in part (a), one of the candidates who performed well

provided his/her answers as follows:

1) (leo Hirally BLESL oo S0 Laiia rivall (g BULYI 4 0o daladl)
“The eloquence deals with the word without the meaning whereby
the rhetoric deals with the word and the meaning as well”.

2) (LS g o liic 20 sgliy Sl _sa¥ 5 Lall 238 JE) “This phrase is said for
something that has appeared after his concealment”.

3) (Crublially Cpralad) o 4ulblyy daling Lol DUSN duwlie g8) “It is an
appropriate speech to what is needed and required depending on the
situation of listeners or the addressee”.

4) ((Ldadly jhilly Al A pa (3 g gilly LEM 4 plga (ads OF Glad¥) gibiiens
Loy A jlaaly il sadid] ail g5 Adlisal) Lo ped) 42l (5 sial) “A\ person
can develop rhetorical skills by expanding his knowledge of the
language, looking and memorizing various texts of the Arabic
language, masterpieces of poetry, prose, practice and training”.

5) ( O AL S0 /5dy ieall G (o s (1555 WM 5 i el Va6 gl
Lipillly L pal) ) o & la b dals JS (55875 claggda  rad) (55) ]
understand that a speech can be correct in terms of meaning and
language rules if the meaning is clearly understood and it adheres to
morphological and linguistic measures”.

In item (b), for example, one of the candidates who performed well in
this question provided his/her answers as follows:

1) (WU by el oY Lijad) 4iddle g o(Aals) Bil 4 Jupad jlaad) “A

metaphor is on utterance “word” and its relationship is a part
because it is intended for the speech”.
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2) (WHLb) pla¥l Jpall oY LSl 48Ne g (agrilal) Bil 4 Jupadl laal))
“The metaphor is a word “fingers” and its relationship is wholeness
because it is intended for their fingertips”.

3) (Al Jof b I padl ¥ Lilaal) 4BDe g o((5 ) Lid! (A Juu padl jlaal) “The
metaphor is a word “villages” and its relationship is the place
because it is intended for the people of the village”.

4) (A Esatll Gpels A palt oY Lilaal) 48Me g ((agisc ) Lil G S pall jlaal)
Sl e Jusd) “The metaphor is a word “eyes” and its relationship is
the place because it is intended for the tears that fall from the eyes”.

5) ( Lojaall pludd) Ll 3 pall Y Lpnnal) 4i8le g o(1 L) Li! 4 S pal) jlaal)
N aglsdd cuwd M) “The metaphor is a word (fire) and its
relationship is the causation because it is intended for the forbidden
things that cause them to be thrown into the fire”.

This good performance shows that the candidates had sufficient

knowledge of metaphor. Extract 9.1 is a sample of good responses
from one of the candidates.
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Extract 9.1: A Sample of Correct Responses to Question 1

Extract 9.1 shows responses from a candidate who managed to clarify
the difference between eloquence (4at=adl) “Al-fasaha” and rhetoric

(4é2uh) “Al-balagha.

Furthermore, he/she provided the intended

meanings to the given definitions.
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On the other hand, the candidates with average performance were able
to provide correct responses to two items on the given statements. They
also provided three out of five items in identifying metaphors contained
in the passage and clarifying its relationships.

Contrary, there were 70 (35.7%) candidates who scored low marks.
Most of these candidates provided incorrect responses to both the five
items given and metaphors contained in the passage and its
relationships. Hence, they were awarded low marks.

In part (a), Most of the candidates failed in item (2-5), for example, one
of the candidates provided his/her answer as follows: (2)- ( <dg 4 JL&
=l “It is said in the morning”. (3)- ( bl (wuns 98 diaill Jigy dpuaiall
omdill 8 400 5439 “What is meant by this definition is good statement
and strong influence on the soul”. (4)- ( X dhlha 4 lge Sladyl ok
i8] i) Y19 Sl  aidad) “A person can develop his rhetorical skills by
matching the words to the situation and the significance of the
structures”. (5)- (dan MY 9S8 O aJ¥ BN O cdiail) J3d o Cagd) “T
understand this definition as that rhetoric must be a good speech”.

Another candidate wrote as follows: (2) - ( A& & Al 5 Lalf sds J&i
e S 230l “This phrase is said by the boy who spoke the words with
the greatest meaning. (3)- (o4 crd JS Cot sl Sl 98 iy ol Jigs 4 gucaialf
ald) “What is meant by this definition is the statement that shows
everything in education. (4)- ( 4l Jetic 13 L2l (A 4 jlge Slesid] ads
4aladlty “A person develops skill in eloquence if he/she uses language
with eloquence. (5)- ( Jletic (A alCiall solay B3N of cdyjail) b 4 Ciagd
A | understand from this definition that rhetoric helps the speaker
to use speech.

The correct answers were supposed to be as follows: (1)- ( 4 cs<i datadls
lea iradly BURNL oS A2 Lala vall (99 BLRYY) “The eloquence deals
with the word without the meaning whereby the rhetoric deals with the
word and the meaning”. (2)- (LS g o liicd 21 _jgliy Sl _sa¥ 5 Ll 038 JLE)
“This phrase is said for something that has appeared after his
concealment”. (3)- (Crblially Cproldd) Jis dulbilyg daling Lol 2)S) Lucilio o)
“It is an appropriate speech to what is needed and required depending on
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the situation of listeners or the addressee”. (4)- ( o &f Slewd¥) pobricys
Aililal) Lyl ALl G giall Bdadlg By Al 440 (3 g gilly L)) 45 )lga
Lyl y deplaally il sadll £i(5,9) “A person can develop rhetorical skills
by expanding his knowledge of the language, looking and memorizing
various texts of the Arabic language, masterpieces of poetry, prose,
practice and training”. (5)- ( €ua (e Do o8 2L O iy ol Jdb 5 Ciagd
L) o Lila g dals JS (05575 clasgda pinadl (55 Ol ARl 2/4 g pnad)
Ligillly 44 ual) “T understand that a speech can be correct in terms of
meaning and language rules if the meaning is clearly understood and it
adheres to morphological and linguistic measures”.

In part (b), some of the candidates failed to identify metaphors from the
passage. For example, one of the candidates provided wrong metaphors
as follows: ( — 4ds 48le g Jupa jlaa =i/ - Lulls 4o g Juipa jlaa = Aff
Ldls 4Ble g Jupo jlaa =f jp — Lulls 4o g Juupa jlaa =cita) “Deliver-
metaphor and its relationships is the situation; take- metaphor and its
relationships is the situation; occur- metaphor and its relationships is
the situation and rise- metaphor and its relationships is the situation”.
The correct answers were supposed to be:

1) (U g dpall OF Lijal 4iBdle g o(dals) Bil 4 Jupad jlaal) “A
metaphor is on utterance “word” and its relationship is a part
because it is intended for the speech”.

2) (WHLb) gl el oY LU 4B g i(agrilal) Bil G Jupadl jlaad))
“The metaphor is a word “fingers” and its relationship is wholeness
because it is intended for their fingertips”.

3) (Al Jof b el Y Lilaal) 48 g o5 sil)) Bl (4 Juupal) jlaal) “The
metaphor is a word “villages” and its relationship is the place
because it is intended for the people of the village”.

4) ( s il £ palll el A pall Y Lilaal) e g o(ag-ive ) Bl 8 Jou pal) jlaal)
cusdl 4) “The metaphor is a word “eyes” and its relationship is the
place because it is intended for the tears that fall from the eyes”.
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On the other hand, some of the candidates failed to clarify the
relationships of the metaphors identified. For example, in item (b-5),
one of the candidates identified the word (&) “Fire” as metaphors and
its relation shops is to consider what will be instead of ( 4 Jusal/ jlaals
A pglsd i U Lo jaall pLdY) L I el Y L) 48N g o(] L) L
JE) “The metaphor in the word (fire) and its relationship is the
causation because it is intended for the forbidden things that cause
them to be thrown into the fire”.
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Extract 9.2: A Sample of Incorrect Responses to Question 1

Extract 9.2 is a sample of part of responses from a candidate who
provided irrelevant responses to all the five items given.
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3.1.2 Question 2: Metaphor and Metonymy

This question had three parts, (a), (b) and (c). The question aimed at
assessing the candidates’ ability to understand the concepts of ( it/
4Ll g) “Al-majazi”, “Al-kinaya” and (4w “Attash-bihu” in rhetoric.
The question was set from the topic of rhetoric.

In part (a), the candidates were required to identify and clarify five
metonymies from the following three verses of the poetry.

1) (pdud glials d a5y # o Gald Glial My ad cila ) “How many women
and men were saddened by my departure”.

2) (LA agbrewg adlivay * s aghw g sgaiad) “They woke up in feeling
happy in the morning and they became distress in the evening”.

3) (<uli b ¥y cuda ) * lgelid Lhgiu ¥ idacf 18) “| am pleased with the
strength of her girdle when she walks and does not fall”.

In part (b), they were required to compose five similes using the
following similarities: (USeff - Lagedll - Jpll — 4928 — 5[al) “daring,
goodness, blackness, softness and cunning”

In part (c), they were required to clarify the intended meaning of the
underlined metaphors and change them into similes from the given
verses of poetry.

1) (sl clialy cliel) e cuiae g 14,9 g * b o |33 < ubald) “Her
tears dripping like pearls from the eye * and falling on the cheeks as
a rose, the lips glistening like the red fruit of inabu and shining like
the white fruit of baradi while biting.”

2) (Ldly &8 Js b [lagy * a4 i Yaa <wl) “| saw the
mountain running in the sea * and sea chasing every poverty”.

Data analysis shows that 117 (53.4) candidates attempted this question,
of them 88 (75.2%) scored from 0 to 5.0 marks. Moreover, 27 (23.1%)
scored from 5.5 to 8 marks and only 2 (1.7%) candidates scored from 9
to 11.5 marks. Figure 10 summarises the performance in question 2.
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Figure 10: Percentages of the Candidates’ Performance on Question 2

The candidates who performed well in this question managed to
identify and clarify five metonymies. They also were able to compose
five similes using the given similarities. Moreover, they could clarify
the intended meaning of the underlined metaphors and changed them
into similes as required.

For example, in part (a), one of the candidates provided his/her

responses as follows:

1) (sliceatf daslall 5/ sall o2 gl c ol Gléal Sl “The crying of gazelle”
means the beautiful woman.

(A gadl) Ja ) odpaie atuds léals SLS) “The crying of lion”
means the brave men”.

2) (5jal) opaaia  ya agbag) “And spread them silk means pride”.
(AL sdpaals ccilsi pghaws) “And spread them dust means
humiliation”.

3) (dedadly sliadl s g clgelid Lhgiu ¥) “Don’t fall off her mask means
modesty and decency”.

For example, in part (b), one of the candidates provided his/her
responses as follows:
1) (Feuadl A sai Jpew S8 “As if said a tiger in boldness”.

60



2) (dsadl A sl Sia ) <You father is like the sea in abundance”.

3) (sl A JllS 5 ) “His hair is like a night in blackness”.

4) (dagtdll A cigall Sia 5sal L) “A woman’s hand is like wool in
softness”.

5) (el A el ¥ 4ud i) “You are like a rabbit in cunning”.

For example, in part (c), one of the candidates answered correctly as

follows:

1) (Esot) <l i po 3lallls ypadal) “The intended meaning for pearls is
drop of tears”

(ool 4 33t £ gatll < b IS sadillg) “As if the drops of tears
mean pearls in white”.

2) (48Y g8 Lal Jpaialh “What is meant for the rose is cheeks”.
(UraaY A yelts 35 gt :4udifl) “Her cheek is like a rose in
redness”.

3) (clied! 4 s 4paial) “What is meant by Al-baradu is teeth”.
(sléall (B 4 dilicd SIS :4wdilly) “As if his teeth were Al-baradu in

serenity”

4) (hd) 58 Jballs ypadad) “What is meant by the mountains is for
ships”.
(EULYI A Joad) Jio dedd) cuils :4uditl]g) “Ships were like mountain in
height”.

5) (Al asd 4 addl ysaial) “What is meant by the sea is the noble
man”

(LY A ol Jha ] 24udillg) “You are like the sea in tunnels”
This shows that the candidates had sufficient knowledge (&L itaal)

“Al-majazi”, “Al-kinaya” and (4wl “Attash-bihu”. Extract 10.1 is a
sample of a candidate’s responses.
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Extract 10.1: A Sample of Correct Responses to Question 2

Extract 10.1 shows responses from a candidate who managed to
compose five similes using the given words: ( - Jsd/ — 4sal/ — 5Ll
Sl - dagedl) “daring, goodness, blackness, softness and cunning”.
However, some of the sentences have grammatical errors.

Further analysis shows that the candidates who performed averagely
managed to identify some of metonymies but they could not clarify the
intended meaning of those metonymies. They were also able to
compose some similes using the given similarities. This implies that
the candidates had insufficient knowledge of the topic of metonymy.

On the contrary, there were 88 (75.2%) candidates who performed
weakly in this question. These candidates were unable to identify five
metonymies which were available in the given three verses of poem as
well as to clarify the intended meanings. For example, one of the
candidates clarified the intended meaning for the metonymies as
follows: (1)- (3 odpaie (il Glials SLY “The crying of gazelle” is
meant for the darkness instead of ( 4aslalf 5/ salf o4 gaie (il léals SLU
slual) “The crying of gazelle” is meant for the beautiful woman™ and
another one wrote (Lsdl sdswalde aiud olisl SLJ) “The crying of
gazelle” is meant for the light instead of ( s/ e saalo iatud Sléals S
a8 eladd)) “The crying of lion” is meant for the brave men”. Another
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example, one of the candidates wrote that (alsl/ odsaie lgelid Lo gl ¥)
“Don’t fall off her mask is meant for the dream” instead of ( sw ¥
dadadly pliadl sdgala clgeld) “Don’t fall off her mask is meant for
modesty and decency”.

Moreover, they failed to compose five similes using the given
similarities. For example, one of the candidates used the simile for the
following similarity (#s«/) “Black” as follows: ( 4 A slf So i il <o
st 1 saw the crow like a black in colour instead of ( e &l <ul,
I geudl A andll) “] saw the crow like the charcoal by colour”. Another
example for the similarity was (<sJ) “Abundance”. One of the
candidates wrote (el A4 LY L) “Ali is like a camel in abundance”
(4l A aull Jio dail) “You father is like the sea in abundance”.

Furthermore, they did not manage to clarify the intended meaning of
the underlined metaphors and change them into similes. For example,
one of the candidates provided his/her responses as follows: ( 4s«<iaf/
o plts Asand) culel] il Jha cdlsand) il 4 290) “What is meant by a rose
is a beautiful girl”, for example, 1 saw a beautiful girl is like a rose
walking” instead of (44 s 4 sl 4paial) “What is meant by the rose is
the cheek”, for example, (Ula¥/ 4 44l I3 Lg! :4udilg) “Her cheek is
like a rose in redness. Another candidate wrote ( Ja/ $4 saulls Jpadal/
Julh 0 jlo ol Ladic [ 4l Ly ol y Jio ¢ gddl) “What is meant for the sea
IS a poor man, for example, | saw the poor man like the sea where there
is little water left” instead of (< Ja s 4 auly Jsaiel) “What is
meant for the sea is the kind man”, for example, ( sawlf o < r4udifl s
JSUY 9 “You are like the sea in spending”. This weak performance
shows that the candidates had insufficient knowledge of the topic of
metonymy and metaphors. Extract 10.2 is a sample of weak responses.
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Extract 10.2: A Sample of Incorrect Responses to Question 2

Extract 10.2 shows responses from a candidate who wrote types of
metonymy instead of identifying five metonymies in the given three
verses of poem in part (a). He/she also wrote types of simile instead of
composing five similes by using the given similarities in part (b).
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3.1.3 Question 3: Literature (Prose)

The question had four parts, (a), (b), (c) and (d). The question intended
to test the candidates’ ability to comprehend the given prose. The
question was set from the topic of literature.

In part (a), the candidates were required to explain the intended
meaning of the following passage.

( Y9 Gl Y il ¥ AN adive udll) sl (9% O Sand) o £ el cina
CHll ccigard] g ST A Gl Lrplal) i ool Lili dandi 555 g o ilay Y9 (I
il gl ¥ ) b gy cqadll plesglly ccdgdal cisllly o) 4a gl 43
paill] glii Y g asdal) lyf ¥g cudill 5 je ¥ g ccutdall) “It is suffice for a person
to have respectable personality, straight in plan and not lying. Not
belittled, nor deceitful, nor flattering, and that his soul be pure and
white, and not polluted by the streaks of vices and blemishes. Even if
he misses the beautiful face. The draped dress and the shining medal,
he does not miss the honour of the sect, nor self-esteem, nor hate
injustice and nor purity of conscience”.

In part (b), the candidates were required to explain the value of a man
according to the text provided. In part (c), the candidates were required
to write in brief about biography of the speaker’s text as well as to
clarify the occasion of that text. Moreover, in part (d), they were
required to explain on the intended meaning of the following
vocabulary:

(ol plii — Lplall & — dbil - slo — O — plug) “Medal - Dirty -
flattering- plan- unpolluted- purity of conscience”

This question was attempted by 120 (54.8%) candidates, of them 20
(16.7%) scored from 9 to 14 marks. Moreover, 37 (30.8%) scored from
5.5 to 8.5 marks. Additionally, 63 (52.5%) scored from 0 to 5 marks.
The general performance in this question was average as 57 (47.5%)
candidates scored from 5.5 to 14 marks. The candidates’ performance
is summarised in Figure 11.
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Figure 11: Percentages of the Candidates’ Performance on Question 3

The analysis shows that the candidates who scored high marks in this
question were able to explain intended meaning of the given text. They
also evaluated the value of a man in light of what he understood from
the given text. Moreover, they wrote in brief the biography of the
speaker’s text and clarified the context of the text. Furthermore, they
explained the intended meaning of the given vocabulary as instructed.
This indicates that the candidates had sufficient knowledge of the topic
of Literature.

For example, in part (b), one of the candidates answered his/her
responses as follows:

(s O Adsapm painall B Ll 1 G389 Jlaaly acidsy o I 13Y £ sadl (A4S
SIS 98 LS (LIS o 9$ Y of iy daniics Slad) B 4G by g Ay pdi deudi
LY s 9g0 Ajia p Al 598 G589 s edll Lai Sy uldl) ) 2397 cdilanls il
) cpdal) dlie) o oy IS of Jland) 288 5 play (i 5 paf 138 IS S ANRY)
(Alall _waslly “It is suffices if a person wants to simile beautifully and
will be highly respected in society and be honourable, while his life
style is very straight forward without being a liar, or deceiver, and his
tongue utters good words. In this way, he will not be harmed for lack of
beauty, as it is if he has noble behavior and good intentions”.
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In part (b), for example, one of the answered as follows: ( Ja Lad (uldi
dulag dgag Jan of Lig s s Y clibliy |l Lseadl dilda g svant] 489EL)
“The value of a man is measured by his good morals as well as his good
qualities, pure and inwardly, not just by his wealth or the beauty of his
face and clothing”.

In part (c), one of the candidates wrote in brief the biography of the
speaker’s text as follows: ( o ciuds g pa ilS o b gliial i) dbas 4
Sl b Y i 3 AL 2] 924-1876 le O Sile | daall o pliiad) 5ab
Lpdy Lisd Lo pl) cls¥) o [ cutdl) Liaa Liig) “He is Mustafa Lutfi Al-
Manfaluti, an Egyption writer attributed to the town of Al-manfaluti in
Sayidi. He lived between 1876 and 1924 AD. He received his studies at
Al-azhar Al-sharif. He grew up loving literature and read a lot of Arabic
literature”.

Furthermore, he/she clarified the context of the text as follows: ( &
Ao gl gf 4 o ply Lo dal g paiaall A Ladlal) £ )Y o | S g b pldial)
(g9l gf LSl cilga g3l daliin) (yo Lis 3 Lasdg) “The genealogy of the text
came when Al-manfuluti used to express a lot of reformist views in
society, especially in the incidents that his people were exposed to, and
in what he noticed of the correctness of intellectual trends or the
deviation

In part (d), one of the candidates explained the intended meaning of the
given vocabulary as follows: ( — Flag/ =0 — iall lgs G i 5Ll =alay
Ll =L plal) b — (il pa Jalellly Spal) Ay by =dbsl) - 05 sy ¥ = 3ley
Hlall padll = padll plii — glay) “Medal= the badge adorns the chest -
Dirty=unclean -Flattering=unbelievable -Plan=way of living and
dealing with people -unpolluted= Pure white -purity of conscience =
good -hearted”. This good performance suggests that these candidates
had sufficient knowledge of the Literature. Extract 11.1 is a sample of
a candidate’s responses.
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Extract 11.1: A Sample of Correct Responses to Question 3

Extract 11.1 shows responses from a candidate who managed to
explain the meaning of the given vocabulary though there were some

grammatical errors.

Conversely, there were 37 (30.8%) candidates who had average

performance in this question. Most of those

candidates provided

correct answers particularly to some items of part (c) and (d). Hence,

they obtained average marks.

Additionally, there were 63 (52.5%) candidates who failed this

question. In part (b), some of the candidates
68
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meaning of the given text by repeating the given. Other provided
unclear explanations due to a poor mastery of Arabic Language.

In part (b), the candidates were unable to evaluate the value of a man
according to what was learned from the text as most of them did not
understand the given text. For example, one of the candidates
responded as follows: ( glud palll (u 4iagd Lo £ 9 Ao Ja ) daid (ulds
44 cue ¥ o L) “My tongue is strict without blemish”. Another example,
one of the candidates answered as follows ( Lo £ Ao Ja ol Lad s
Ladlaw (9 G gidimy palSd] o Of giag 7Y galls 4iegd) “The value of a man
is measured with effort because he strives to see people live in safety”
instead of ( Law ¥ «Libliy | oL Laalf dilda g S1asl) A8NEL Sa uff Loyl
delag 4ga g Jaa 5/ 4949 “The value of a man is measured by his good
morals as well as his good qualities, pure and inwardly, not just by his
wealth or the beauty of his face and clothing”.

In part (c), most of the candidates attempted to write in brief the
biography of the author. However, their explanations were unclear and
had some grammatical errors and spelling mistakes. This was due to
the lack of the vocabulary and ability to express in Arabic Language.
For example, one of the candidates provided his/her answer as follows:
() A Laalay) Ulwa 4 yaing olS9). This sentence was unclear
because, it has grammatical errors and spelling mistakes. The correct
sentence was supposed to be; (agia) A Lelaiay/ Jilwall yaisy yaill HUS)
“This text was about social issues during their time”.

In part (d), the candidates explained incorrect meaning of the given
vocabulary. For example, one of the candidates provided meaning of
the given vocabulary as follows: ( — (gdei = sle — Lol daubsl) =alusl
<l phifi=dbif) “Medal= a good manner, -Flattering =to flatter -
Plan=Plans” instead of ( - ody (s ¥ = dlay - sl b i S LS =aleay
i) pa Jalaill g Shsnl) 48, ubo =4bif) “Medal= the badge adorns the chest -
-Flattering=unbelievable -Plan=way of living and dealing with people”.
Another candidate wrote as follows: (— dbwge=ciale pé— Joladl =alugll
Llle Siga = paall £18) “Medal= solutions -unpolluted=Medium -purity
of conscience = high front” instead of ( & — sl g e Ll =alug
Alall padl) = padall plii — play Ld7 =4 3lal)) “Medal= the badge adorns
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the chest - -unpolluted= Pure white -purity of conscience = good -
hearted”. Extract 11.2 is a sample of weak responses.
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Extract 11.2: A Sample of Correct Responses to Question 3

Extract 11.2 shows responses from a candidate who provided incorrect
meaning to the given vocabulary and copied the words from the given
text and used them as the answers for both parts (a) and (b).
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3.1.4 Question 4: Literature (Poem)

This question had four parts, (a), (b), (c) and (d). The question intended
to test the candidates’ ability to comprehend the Arabic poems. The
question was set from the topic of literature.

In part (a), the candidates were required to write five missing verses of
the poem provided:

.......................................... *k aglS 4 e i Sl /i

aaelly CSi G cdppicppl) R,
........................................... #x dlgad euls o) dabld o) Jds

........................................... ok gLl U 4] 1)

denied.

This is the son of Fatima** ...l

If a Quraysh saw him, he would say ** .............ccoiiiiiiiiiii,
....................................... ** Had it not been for the tashahudi,
his loyalty would have been yes”.

In part (b), the candidates were required to explain two purposes from

the poem sung by Al-farzdaq (........... iy plabal) od o ¢4l 1d8) “This is
whom the land of Mecca knows and stomped on his legs......... ” by

citing what supports their answers.

In part (c), they were required to explain the intended meaning of the
following given verses of poem:

(£YY o 1S Y (spayg #%* 4d oo ¥ ala Hlad) “My tongue is strict
without blemish and nautical not disturbed by buckets”.

In part (d), they were required to explain the meaning of the following
vocabulary:

(alel) - oty — ddclall — &1 EL) “Beholder -pure -bolt of lightning,
-disregard -Star”.
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The question was attempted by 216 (98.6%) candidates who sat for the
Examination. The performance shows that, 123 (56.9%) candidates
scored from 9 to 15 marks. Moreover, 75 (34.8%) candidates scored
from 5.5 to 8.5 marks and only 18 (8.3%) candidates scored from 0 to 5
marks. The general performance was good because 198 (91.7%)
candidates scored from 5.5 to 14 marks as illustrated in Figure 12.

56.9
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Figure 12: Percentages of the Candidates’ Performance on Question 4

The data reveal that 123 (56.9) candidates who performed well in this
question understood the requirements of the question. They were able to
write five missing verses. They also managed to explain two purposes
found in the poem as recited by Al-farzdaq ( slabkd cimi sdf /e
........... 4ilkg) “This is whom the land of Mecca knows and stomped on
his legs......... ” as well as cited what supports their answers. Moreover,
they were able to explain the intended meaning of the given verses of
POEM (£ ¥4 o uSi ¥ (g g #%# 4 e ¥ o la i) “My tongue is strict
without blemish and nautical not disturbed by buckets”. Furthermore,
they managed to explain the meaning of the given vocabulary ( — &L
aldd - at — dielal — &) “Beholder -Pure -Bolt of lightning -
Disregard -Star” as required.
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In part (a), for example, one of the candidates was able to provide
correct responses to the five missing verses as follows:

alad jolhll Al G Jih  #* gl al) e s Sl b

aaelly S G cd i cppl) FE o il JAd o Al gd uidg
Joadi s Hd Ll pluifodag #% dlgad il o dabild ) /0
Sl iy J A pSal) A FF g LilE Nl 8 A
At 08 Y LS Sgdil] Y pd A ol i 8 Y L8 Y1 N L

“This is the son of the best of all God’s servants * this pious, pure,
famous, honorable person.
And your words are not weak bastard * the Arabs and non-Arabs know

whom denied.
This is the son of Fatima** in his grandfather, the prophets of God

were sealed.

If a Quraysh saw him, he would say ** it to the nobles: this is the end
of generosity.

He never said, “no” except in his tashahud ** had it not been for the
tashahudi, his loyalty would have been yes”.

In part (b), for example, one of the candidates explained two purposes
found in the poem sung by Al-farzdaq (........... by plabl cd i o 30) 1a)
“This is whom the land of Mecca knows and stomped on his
legs......... ” and cited what supports his answer as follows:

(i oAl 138 ;led B raall ielagllly pial) Lad Sl il alali Siualdll o0
g o pl) # o pdlas 138 o AlE usly g A plagl) sla LaSy cdillg eladisl)
aadlly <<l (44) “This poem had two purpose namely praise and satire.
For example, the praise is this verse as says: This is whom the land of
Mecca knows and stomped on his legs and the satire of the poem as
says: your saying of this is not weak bastard * the Arabs know whom
denied and the non-Arabs”.

In part (c), for example, one of the candidates explained the intended
meaning of these verses of poem ( oS ¥ g azy ## 48 cue ¥ a jla it
£¥4) “My tongue is strict without blemish and nautical not disturbed
by buckets” as follows:
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(@l O Gleus gy sbuaail) 038 6 ablil slaadls  ilaly Guard] jaidlS o 2di
A A Clalsl) o el g 5945 il 4l dlaaly idll G oag [$0US Gl (S pidiall
ag-ias) A2) “My poetry is like a deep sea and my tongue is like a sharp
sword. In this poem, Hassan tells the polytheists who used to spell the
prophet and companions that he has a vast wealth of words in their
response to their spelling.

In part (d), for example, one of the candidates managed to explain the
meaning of the given vocabulary as follows:

((osbi ooy = ks — e ) G =diclal) — jalhal) ilal) = Al — uad! = BN
Aagd A sl =alell — 4 9) “Beholder=the seer; -Pure=Good morals; -
Bolt of lightning=Thunder sound; -Disregard= Tilt his gaze; -Star=the
master of his people”. This good performance indicates that these
candidates had sufficient knowledge of the poems. Extract 12.1 is a
sample of a candidate’s responses.
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Extract 12.1: A Sample of Correct Responses to Question 4

Extract 12.1 shows a part of responses from a candidate who provided
correct answers to the five missing verses. He/she explained the

meaning of the given vocabulary as required.

Conversely, there were 75 (34.8%) candidates who had average
performance in this question. Most of those candidates managed to
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write the five missing verses. Moreover, they explained the meaning of
the two or three of the given vocabulary related to the poem.

In contrast, 18 (8.3%) candidates did not perform well in this question
due to insufficient knowledge of literature particularly poems. In part
(a), the candidates were unable to complete the missing verses with
appropriate information as they left the question unanswered.

In part (b), the candidates could not provide two purposes that includes

in this poem recited by Al-farzdaq (........... dilby plabsll i gl 1ia)
“This is whom the land of Mecca knows and stomped on his
legs......... ” as well as to cite what supports the answer. Additionally,

majority of them guessed the two purposes found in the poem but they
were unable to clarify their answer by citing evidence from the poem.
For example, one of the candidates managed to provide two purposes
of poem that are praise and satire. The correct answer was supposed to
be ( «isai odlf 1is ;4led A raall folagl g raal Lad Gl il (paiii b uail 2d
i ) #o o yilins |38 pa Al gE g UL B plagl pla LSy dilkg plabs)
aadly < ST 4) “This poem had two purposes namely praise and satire.
For example, the praise is this poem says: This is whom the land of
Mecca knows and stomped on his legs. The satire is this poem says:
your saying of this is not weak bastard * the Arabs know whom denied
and the non-Arabs”.

Furthermore, some of the candidates provided answers which were not
related to the demands of the question. For example, one of the
candidates wrote the two purposes as follows: ( el agds of 5Ll IS
Ko B jppda oy cpuled 4 o¥) “Al-Farzdaga wanted the king to
understand that Zainal-abidin was famous man in Mecca”.

In part (c), most of the candidates were unable explain the intended
meaning of the given verses due to inability to express themselves in
Arabic Language. Hence, they wrote unclear explanations. Moreover,
their responses had a lot of grammatical errors and spelling mistakes.
For example, one of the candidates explained the meaning of these
VErses as (s¥ oSl ¥ gany #* 4 cue ¥ ajla Hlad) “My tongue is
strict without blemish and nautical not disturbed by buckets” as
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follows: ( Lo S S of il ¥y (g ¥ 4adlS Of ol 238 S oLl 1o sady
+.4). This sentence was unclear because of a lot of grammatical and
spelling mistakes.

In part (d), the candidates provided incorrect meaning to the given
vocabulary (sl - &ty — dielal — i — diLil) “Beholder - Good
morals - Thunder sound, - He tilts his gaze — the master of his people”.
For example, one of the candidates wrote as follows: ( — {s<adal = SLf
pledl odie odl ol =alel — g iy =l — 4igS =diclal) “Beholder=
Intended for - Bolt of lightning = Being -Disregard= go out -Star = the
educated person”. Another candidate wrote as follows: ( Lstall =4iclall
i) =alel) — cul) = 2t ) “Bolt of lightning=Sincere, - Disregard —
defect — Star= Identification” instead of ( Aall = Al — Suall = BLiY
@ﬂ‘é,ﬁydlzfald/_m\;:ﬁ‘,éu’gzéﬁég_&j/dﬂ:&wl_ﬂwo
“Beholder=the seer -Pure=Good morals -Bolt of lightning=Thunder
sound -Disregard= Tilt his gaze -Star=the master of his people”. These
candidates had insufficient vocabulary in Arabic. Extract 12.2 is a
sample of weak responses.
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Extract 12.2: A Sample of Incorrect Responses to Question 4

L

Extract 12.2 shows a part of responses from a candidate who provided
incorrect responses to all questions.
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3.1.5 Question 5: The History of the Arabic literature

This question had two parts, (a) and (b). The question tested the
candidates’ ability to master the history of the Arabic literature. The
question was set from the topic of the literature.

In part (a), the candidates were instructed to answer the following five
items:

1) (fe¥ 6ile usti Jila) “Why is literature studied?”

2) (Yl arly ypaid/ls) “What is meant by pre-Islamic era?”

3) (Yl ada o] o b j & &dad) “Explain briefly about Zuhair bin

Abi Sulma”.
4) (el d (e Sie5 ils Je) “When was the market Dhul-majaz
held?”

5) (il soldd)) il Jdo el op luas oldd) Jiand <dss) “How did the
poet Hassan bin Thabit get the tittle of Islamic poet?”

In part (b), the candidates were required to explain briefly the role of
literary markets in the development of the Arabic Language.

This question was attempted by 216 (98.6%) candidates. Among them,
57 (26.4%) scored from 9 to 15 marks. Moreover, 73 (33.8%) scored
from 5.5 to 8.5 marks and 86 (39.8%) scored from 0 to 5 marks. The
overall candidates’ performance in the question is summarised in Figure
13.

39.8

33.8

Percentage of Candidates
)
Lh

55-8.5 a-15
Scores

Figure 13: Percentages of the Candidates’ Performance on Question 5
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Analysis shows that the candidates who attempted this question
performed well. Those candidates answered correctly the five given
items and explained in brief about the role of literary markets in
development of the Arabic Language.

In part (a), for example, one of the candidates provided correct answers
to the five given items as follows:

1)

2)

3)

4)

5)

(heant) il updil) piaiusd! oty gut) “The literature is studied to
inspire souls with beauty of arts.

(i 150 saio 2l sgdi S N 5,340 AL g) “It is the period that
preceded the emergency of Islam by about one hundred and fifty
years”.

(o Lpds die S8 daldy po L] AlS iS4 £ e sig cudd drgy v i J oo
Loy Jud g7, piag caS Lad Cptly 4 Cuadly 453 (pa 6] 00) (o g g 30 Aale
Lle 90 s sl (w0 4y (u<) Js« ) “He is Zuhairu bin Abiy Rabia,
who grew up in the care of his uncle the poet Bashama and learned
a lot of his knowledge from him. He married a woman from his
uncle and she bore him two sons Kaab and Bajir. He died just
before the mission of the messenger (may God bless him and grant
him peace and he was about 90 years old”.

() 9 A saicaiy daad) o Silg] 4 jlaal) o (o B2 Cils) “The
Dhul-Hijja market was held at the beginning of Dhul-Hijja and
continued until the time of the Hajji”.

( shef Sl HlS dadle dia 1Y adls) o ldl) Cilll o culd oy Gl Juan
U plgss lesads agia g il (S pda guang cdsgilly s o paa)
“Hassan bin Thabit got the title (Islamic poet) because since his
conversion to Islam, he has been fighting the enemies of Islam from
the Qurayshi, Jews and all the polytheists of the Arabs. He shot
them with the arrows of his words.
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In part (b), for example, one of the candidates managed to explain
briefly the role of literary markets in the development of the Arabic
Language as follows:

(oo 4ot Laa Jgll Clpiin CilS fo uennd 5 al] Ja ¥ (S5 ad Gl g Of 48 AL Y Laa
il 4 dabic U7 (5lpud) il OIS |, Joll) A8 bl plilly oo pdill L)
&aadl OF (Sl cilagd oy 5 o cidae gl JUT Al 285 i std) it g Al
Sy cpl B dagd i gf Alily oy B Jlad g (plalelyg San)y &L G publiD [ gilS
lesan ol 44 muad) “There is no doubt the markets were not only for
trade but were also forums for speech, including the chanting of poets,
sermons and eloquence. These markets had great effects in the Arabic
Language and Literature. The most important of these effects was that it
worked to bring the dialects of the tribes closer. They all spoke one
language and dealt with merchants of Quraysh and therefore, they dealt
with Quraysh and it almost became the language of the Arabs.

This indicates that the candidates had sufficient knowledge of the

history of the Arabic literature. Extract 13.1 is a sample of a candidate’s
good responses.
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Extract 13.1: A Sample of Correct Responses to Question 5

Extract 13.1 shows apart of responses from a candidate who provided
correct answers to the five given items. He/she explained the role of
literary markets appropriately in the development of the Arabic

Language as required.

On the contrary, the candidates with average performance were able to
provide correct responses to three items among the five given items and
explained partially on the role of literary markets in the development of
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the Arabic Language. This shows that the candidates had insufficient
knowledge of the topic of literature.

Contrary, there were 86 (39.8%) candidates who performed weakly in
this question. Those candidates provided incorrect answers to the five
given items. They also could not explain about the role of literary
markets in the development of the Arabic Language. Most of these
candidates provided unclear responses due to a poor mastery of the
Arabic Language.

In part (a), for example, one of the candidates provided his/her answer
to the item (1) as follows: (L) cdai S ¥l Sale (L) “The literature
is studied in order to know the literature. Another candidate wrote that
(Lapball (BRY) il id¥) 5ala L ,3) the literature is studied to know a
good manner” instead of (chead 4id (updill piaiuil ¥l (L) “The
literature is studied to inspire souls with beauty of arts.

In item (2), for example, one of the candidates answered as follows: ( %
Sl e od uatd) “It is the era in which the ignorant lived”.
Another one wrote that (sl & (wly alal) 12 44) It is opposite of
patience, not opposite knowledge” instead of ( gl e L 5l L g8
Liv 150 sai pla)) “Tt is the period that preceded the emergency of
Islam by about 150 years”.

In item (3), one of the candidates provided incorrect answer as follows:
(e oS ol of v 8 $8) He is Zuhari bin Abysulma complains
and reproaches his people” instead of ( 4 Fe s cud sdasy cp o 90
A cunily 4l 531 ha 8] 1a) (a g 3T Aade (pa | S die SR daldy jeLdl) 415 CdiS
Lale 90 sai sarll o Uy () Jou ) Ly Jud A 07, payg caS Lad Sptlg) “He
IS Zuhairu bin Abiy Rabia, who grew up in the care of his uncle the
poet Bashama and learned vast of knowledge from him. He married a
woman from his uncle and she bore him two sons Kaab and Bajir. He
died just before the mission of the messenger (may God bless him and
grant him peace and he was about 90 years old”.

Furthermore, in item (4), one of the candidates responded that ( e <uits

J9Y gy ) brdlll o gd s jlaadl 53 §3w) “The Dhul majjaaz’s market

was held after the month of Dhul-gqaada up to Rabiul-awali”. Another
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example, one of the candidates wrote that ( SLs/ 4 jadl od 4 s Lied cuils
4aall o4 “The Dhul majjaaz’s market was held at the end of Dhul-
Hijja” instead of ( &g A saicdy daall o Jilgf A jlaall 53 (§ s Lind iilS
&) “The Dhul majjaaz’s market was held at the beginning of Dhul-
Hijja and continued until the time of the Hajji”.

In item (5), for example, one of the candidates wrote that ( &y Jlwa Jaaad
Yy A pard) oy pand) Gile of sy il e cull) “Hassan bin
Thabit got the title of Islamic poet by living two periods pre-Islamic
and Islamic era” instead of ( o/ seldl dlll Jo cli oy Slus Juani
Gl (S gpang cloglls A o pdlal) plae Judlly SIS dadle) e 43¥
AU 5/ algw lesan agma i 9) “Hassan bin Thabit got the title of Islamic poet
because of conversion to Islam. He has been fighting the enemies of
Islam from the Qurayshi, Jews and all the polytheists of the Arabs. He
shot them all with the arrows of his words.

Part (b), for example, one of the candidates provided unclear
explanations as follows: ( oS deall 4 Luaiiy sk 4 L) 5l o
L §lpuy Jlaadl 53 (§lsw lgia EO6 A ma odl (§low (Slg S LudY) (§lsud)
Call gl Ly d) DLl 5 alll 1iSa g ity pidl] B el (§lge b cdin (§3ug
o). These explanations were lacked clarity because of inability to use
Arabic Language appropriately. As such he/she was unable to provide
the correct answers despite his/her knowledge.

The correct answer was supposed to be ( Ja¥ (i af il s o 4 L ¥ Laa
A8y ubasll plilly cp |l Ahi) (yo 4 Lao Joll] Cilpatiio LS fy i § Lol
gl LT Al a8 (g ot td) ad¥] g s o) A4l 4 Laslic LT 5 pa¥l) A OIS 540
& Gsbalelyg Saalg diL G publiD 9l guaal) Y (Jibdl) Clag) eyl o Cilas
lesan o pell 48t pruad ClSy ol A dagd g Wil (A tad) “There is no
doubt the markets were not only for trade but were also forums for
speech, including the chanting of poets, sermons and eloguence. These
markets had great effects in the Arabic Language and Literature. The
most important of these effects was that it worked to bring the dialects
of the tribes closer, because the all spoke in one language and dealt with
merchants of Quraysh. Therefore, the dealt of Quraysh and it almost
became the language of the Arabs. Those who failed this question had
insufficient knowledge of the topic of the history of the Arabic
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literature and had a poor mastery of Arabic Language. Extract 13.2 is a
sample of weak response.
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Extract 13.2: A Sample of Correct Responses to Question 5

Extract 13.2 shows a part of responses from a candidate who provided
incorrect responses to all the questions.

3.2 Section 2: Essay Questions
This section comprised of three questions and the candidates were required to
attempt only two questions. Each question carried twenty (20) marks.

3.2.1 Question 6: The Story of the Merchant of Baghdad

In this question, the candidates were required to explain the motive
behind his crisis by using the book the Merchant of Baghdad. They
were required to explain in not less 200 hundred words. The question
tested the candidates’ ability to apply their thoughts and build capacity
of convincing as well as expressing themselves using the Arabic
Language. The question was set from the topic of Response to Reading.
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The question was attempted by 201 (91.8%) candidates who sat for the
Examination. The analysis shows that, 36 (17.9%) scored from 12 to
16.5 marks. Moreover, 99 (49.3%) scored from 7 to 11.5 marks and 66
(32.8%) candidates scored from O to 6.5 marks. The general
performance was good because 135 (67.2%) candidates scored from 7
to 16.5 marks as illustrated in Figure 14.
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Figure 14: Percentages of the Candidates’ Performance on Question 6

Analysis shows that, the candidates who scored high marks were able to
understand the demands of the question. Moreover, they explained
appropriately the motive behind Ali koja’s intention to go for the Haijji.
Hence, they deserved high scores. For example, one of the candidates
wrote as follows: (ae b/ L 4agi A oy alall Ji6 o Ao aldl o)) Lald
Y O oS OIS a gy JS pliadl A pla odl) gadl) oY Ly 8 £ 138 ASa () jdedd) o
ol Cifls) “When the merchant Ali saw that the dreams repeated for
three days in his sleep, he decided to travel to Mecca to perform an
obligatory duty. The sheikh who appeared in his dream daily insisted
that he should not violate his command”. This implies that the
candidates had a good command of Arabic Language. Extract 14.1 is a
sample of a candidate’s responses.
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Extract 14.1: A Sample of Correct Responses to Question 6

Extract 14.1 shows a part of a response from a candidate who
candidates explained correctly about the motive behind Ali koja’s
intention to go for Hajji.
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On the contrary, the candidates with average performance explained
insufficiently the motive behind Ali koja’s intention to go for the Hajji.
Moreover, their responses had some grammatical and spelling mistakes.
Hence, they performed averagely.

In contrast, the candidates who had weak performance were unable to
interpret the question correctly. Some of them provided unclear and
insufficient explanations and their responses had some grammatical and
spelling mistakes. Other candidates provided answers which were not
related to the demands of the question. For example, one of the
candidates wrote the quarrel that happened between Ali Koja and his
friend Hassan after he stole his dinars when he went to Hajji instead of
the motive that led to his crisis to the Hajji. This led them to score low
marks. Extract 14.2 is a sample of a candidate’s responses.
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Extract 14.2: A Sample of Incorrect Responses to Question 6

Extract 14.2 shows a part of responses from a candidate who provided
unclear explanations on the motive behind Ali koja’s intention to go for
the Haijji.
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3.2.2 Question 7: The Story of Sindbad Bahri

In this question, the candidates were required to discuss the phrase
“Many people think that the good life of the rich people has come
without any problems”. They were instructed to use the position of
Sindbad Bahri to advise the community in this regard in not less 200
hundred words. The question tested the candidates’ ability to apply their
thoughts and ability to convince as well as expressing themselves using
the Arabic Language. The question was set from the topic of Response
to Reading.

The question was attempted by 147 (67.1%) candidates. Among them,
28 (19.0%) scored from 12 to 18 marks. Moreover, 73 (49.7%) scored
from 7 to 11.5 marks and 46 (31.3%) candidates scored from 0 to 6.5
marks. The general performance in this question was good as 101
(68.7%) candidates scored from 7 to 18 marks. The candidates’
performance is summarised in Figure 15.
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Figure 15: Percentages of the Candidates’ Performance on Question 7

The candidates who performed well in this question were able to

interpret the given concept as many people think that the good life of

the rich people has come without any problems”. Furthermore, they

were able to organise their thoughts in a good logical flow. Yet, their

responses had some minor spelling mistakes. For example, one of the

candidates wrote as follows: ( g/ Jbuticdl) dileal Al e lially by o
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Lo s Ll ¥ plry gy arls ) 508 ) Adial) Of St L8 prual s dils ) goan (4
&l e (38 Of - T e ldd) 0db paiaall jgldf Jilé cplie of LU Of b g 445
glc so ) A0 Y aril 2 cphing b Jor of - (OIS JB) “Among the
dangers and troubles that Sindbad the Sailor faced through his journey
until he became rich, indicates that the comfortable they enjoy today is
a result of much trouble they passed through, Thus I advise the society
about these things: being patient in situation, working hard as much as
possible and blessing come after trouble. This suggests that the
candidates had sufficient knowledge of the Story of Hindbad Bahri and
had the ability to express themselves in Arabic Language. Extract 15.1
is a sample of a candidate’s relatively good responses.
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Extract 15.1: A Sample of Correct Responses to Question 7.

Extract 15.1 shows apart of responses from a candidate who candidates
interpreted correctly the concept that ‘“Many people think that the good
life of the rich people has come without any problems’.
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On the contrary, the candidates with average performance were able to
explain the given concept as ‘Many people think that the good life of
the rich people has come without any problems’ but their explanations
were insufficient. Moreover, it had a lot of a grammatical errors and
spelling mistakes. Hence, they obtained an average performance.

However, the analysis shows that candidates had weak performance in
this question. Many of the candidates were unable to express
themselves in Arabic Language. Others candidates copied some texts
from the question and used them as the answers. On top of that, their
answers had a lot of grammatical and spelling mistakes. The weak
performance shows that these candidates had poor mastery of Arabic
Language. Extract 15.2 is a sample of a candidate’s responses.
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Extract 15.2: A Sample of Incorrect Responses to Question 7
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Extract 15.2 shows a part of responses from a candidate who copied
some texts from the questions and used them as the answers due to a
poor mastery of Arabic Language.

3.2.3 Question 8: The Story of the Merchant of Bundiqiyyah

In this question, the candidates were required to provide four
characteristics of good wife from the personality of ‘Bursha’ in not less
200 hundred words. The question tested the candidates’ ability to
express themselves in Arabic Language. The question was set from the
topic of Response to Reading.

The question was attempted by 82 (37.4%) candidates. Among them, 6
(7.3%) scored from 12 to 14 marks. Furthermore, 40 (48.8%) scored
from 7 to 11 marks while only 36 (43.9%) candidates scored from 0 to
6.5 marks. The general performance in this question was average
because 46 (56.1%) candidates scored from 7 to 14 marks. Figure 16
summarises the candidates’ performance in question 8.
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Figure 16: Percentages of the Candidates’ Performance on Question 8

The candidates who performed well in this question were able to
demonstrate and justify the statement given. They also provided
appropriately four characteristics of good wife learned from the

personality of ‘Bursha’ to their colleagues. Moreover, they
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demonstrated the ability to express themselves in Arabic Language. For
example, one of the candidates wrote as follows: ( Ayl cléiw/se e
Lodicaal|y Loy St Abuadl) g3 cplSIl Ly duaid o tdind Al dadlal)
“Among the characteristics of a good wife learned from Bursha’s
personality are: intelligent, virtuous, generous and uprigh. This good
performance suggests that the candidates had sufficient vocabulary and
adequate knowledge of the story of Merchant of Bundigiyyah although
there were spelling mistakes. Extract 16.1 is a sample of a candidate’s
responses.
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Extract 16.1: A Sample of Correct Responses to Question 8

Extract 16.1 shows apart of responses from a candidate who candidates
managed to explain four characteristics of good wife learned from the
personality of ‘Bursha’ to their colleagues.
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On the contrary, the candidates with average performance provided the
insufficient explanations in discussing four characteristics of good wife
learned from the character of ‘Bursha’. Moreover, their responses had a
lot of a grammatical and spelling mistakes. Hence, they obtained an
average marks.

In contrast, the candidates who had weak performance in this question,
explained Bursha’s engagement instead of four characteristics of good
wife learned from the character of ‘Bursha’. Some of them provided
unclear explanations. Moreover, their explanations had a lot of
grammatical and spelling mistakes. This weak performance shows that
these candidates were incompetent in Arabic Langage. Extract 16.2 is a
sample of a candidate’s responses.
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Extract 16.2: A Sample of Incorrect Responses to Question 8

Extract 16.2 shows a part of responses from a candidate who explained
Bursha’s engagement instead of four characteristics of good wife

learned from the personality of ‘Bursha’.
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4.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of the candidates’ responses in each topic shows that the
candidates had good performance in Comprehension (89.3%), Language Use
(85.1%), Morphology (82.2%), Grammar (67.6), Literature (65%), Response to
Readings (64%) and Composition (62.6%). These candidates performed well in
these topics because they had sufficient knowledge and clearly comprehended
the demands of the respective questions and thus responded accordingly. This
suggests that the candidates scored an average of 35 and above in those topics.

However, the candidates’ responses in each topic indicate that, the candidates
had average performance in Rhetoric (37.2%) because they had inadequate
knowledge on the topic tested.

The summary of the candidates’ performance in different topics is presented in
the Appendix.

5.0 CONCLUSION

The general performance of candidates in Arabic Language in the ACSEE
2022 was good (46.57%). This performance could be attributed to the
candidates’ good skills in reading for comprehension, adequate knowledge of
Language Use, Morphology, Grammar, Literature, Response to Readings and
Composition and the ability of using principles of the Arabic grammar. These
skills enabled them to understand and identify the requirements of the
questions and thus responded accordingly.

6.0 RECOMMENDATIONS

In order to improve the better performance of the candidates in Arabic
Language in the future, the following recommendations need to be taken into
account:

(a) The use of the Arabic Language in school; teachers and students need to
give priority to both spoken and written language. This will make students
to employ good writing and understanding skills when writing their
responses.
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(b) Students should be given enough time to practice both productive and
receptive skills. This will build into them language competences.

(c) The topics that appear to be more difficult for the students like Rhetoric
should be considered by showing many examples to students, discussing
them and then asking some questions to make sure that students understand
in terms of the use of teaching and learning methodologies. This should go
hand in hand with frequent practices.
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Appendix 1

A comparison of the Candidates’ Performance in Each Topic Between
ACSEE 2021 and ACSEE 2022

S/n | Topic 2021 2022
Remarks Remarks
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3. | Grammar 1 52.2 Average

4. | Literature 3 4653 | Average

1 40.5 | Average

Comprehension
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Appendix 2

A comparison of the Candidates’ Performance in Each Topic Between
ACSEE 2021 and ACSEE 2022
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